Math Olympiad 2025

B D O ( Topicwise Practice & Question Bank
Junior category ( 6-8)

Bangladesh Olympiad Challenge

(Que 01)

o9 T9QTete aft I WHRRE T INNOIE TGN I, (TN A2 ([T I
of® T STRAT BV ST 2| 12 I ST Fo2

In the diagram below, 7 single-digit numbers are arranged in such a way that the product of the 3
numbers along the same line is equal. What is the number in the '?' box?

(Que 02) AT NCHF (FIN FAON JYICF 18 I3 24 T O157 FAC AN 5 <8 11
WG ATHI?

Find the least number of five digits which when divided by 18 and 24 leaves 5 and 11 respectively
as remainders

(que:03) IFC FIEF GG TN TR (TBTEAT CHFAHCETT WYNG SN2 0T84 =
2:3:4:7. & [IP OV, T AR 0T GO AP CHABES 4:1, 2:3 3R 3:2 WHAO 4
G332 G WM Fe; 84 GifNT T=YfOro2 417 W™ 71 | SIRBTA G JFAY
fRTIGAT FAE I AL ATE HRMEO G CFGPCET AT FO?

A farmer has has four plots whose areas are in the ratio 1st: 2nd: 3rd: 4th = 2:3:4:7. He planted both
paddy and jute in 1st, 2nd, and 3rd plots respectively in the ratios 4:1, 2:3 and 3:2 in terms of areas
and he planted only paddy in the 4th plot. Considering all the plots at time find the ratio of areas in
which paddy and jute are planted.

(que;04) GG &A1, -1, -1, -1, ... A6 JOIT HfF® AT (T AN 7T 2% =0T 1 4<% -1
9 9 (AT ATOIRI6 1N Z0E OIHF AI7S] F26 TR BVHCAF ST | LTI AT
2013f% *Itva IS w2




A sequence 1, -1, -1, -1, ... is formed such that the first two terms are 1 and -1. Thereafter, each
term is the product of its two preceding terms. What is the sum of the first 2013 terms of the
sequence?

(Que:05)R™ GRS N WTET B0 ST I67e, I W DTAT BTH 45 | [THF I
MATGF SINF (T W TSI (72 FANOT NR BT (TFe 32

Bindu told Nirjona a three-digit number, the product of whose digits is 45. For the smallest possible
value of the number Bindu mentioned, what is the sum of its digits?

(Que:06) 6 TSI ST BT 2022 =, B& MYTFL ATLFT AN o (@
A2

If the product of two natural numbers is 2022, what is the minimum possible difference between
these two numbers?

(Que:06) IF6 (I N 54 -n A (TN n IHIG GAYF 45 S74M | & (FICF
TR (IR TN F T

If an angle measures 54 -n degrees and n is not equal to zero. What is the degree measure of the
supplement of this angle?

(Que:07) G576 fEGIoR IR ST (T TFNF AN 4T 8 AT 421 & Fgrew
CFaTd 97

The lengths of the sides of a triangle are 3 consecutive integers. If its perimeter is 42, what is it area?
(Que:07)7! + 8! + 9! SILYTG 3* BT fIOTGY | '2'- G ST NN &2

The number 7! + 8! + 9! is divisible by 3*. What is the maximum value of 'a'?

(Que:O% (T FHON YNIGF Y ANCI TIBTA NI (NF 2019, O AL
?

What is the leftmost digit of the smallest positive integer whose sum of all digits is 2019?

(Que:09)




A6 BT OIH WHOIFIF I8 ATHFCIT WA 3:5 | fN6a forad ol HOTHIO
BIRID TN CRFaTeRNg WHOCH(E RO | T 0T ATOCHLAT AHRITT TS
FO?

The flag of an island is rectangular with a side ratio of 3:5. As shown in the figure below, the flag is
divided into four rectangles of equal area. What is the ratio of the sides of the white rectangle?

(Que:10) 20-ON (NIfeTF SLLIT 71 (e 27-ON (NP HLLI F9?
If the 20th prime number is 71, what is the 27th prime number?
(Que:11) 6x+10y=21 {<R 10x+6y=91, AT x+y-4d N[N PO?
6x+10y=21 and 10x+6y=91, what is the value of x+y?

(Que: 12) STATHTY (A ST 4TF Frorasfer ImsT 176 W GN~NeI A4 J (T, A6
JICH D2 SN 15 B NI AP 33 (FICNT 7T 07051 ST 476 Weded
AP N2

What is the greatest number of bags that can be used to hold 17 marbles if each bag must contain
one marble but no two bags may contain the same number of marbles?

(Que:13)
A
E
B
D
C

fSraq *1pgGiore [ow oAb fAgreE AR TN ABC JH(0 STNZ fG9S AEF,
DFE, CDF X412 f9% ddg G371 AT=F 95N 20, VGG ABCDE & @96 ABC-49
ATV HAYN© F9?

In the pentagon in the figure, the perimeters of the four triangles it is divided into are equal. ABC is
an equilateral triangle. If AEF, DFE, and CDF are isosceles triangles and they are congruent to
each other, what is the ratio of the perimeter of the pentagon ABCDE to the perimeter of the
triangle ABC?

(Que:14)



6 IO WESF (BIRIHIRF THSI 15 cm A8 I SN A 30 cm | IH(6 H{ovwr A
R (0 B [T U0 AT 9P e | 1= g SN (57 TR 51 G
JF ST SfNT TSN 5| A [T (AF B (NQCS NS (WG F© 17 WoHmw
PEAR?

The height of a cylindrical tank is 15 cm and the circumference of its base is 30 cm. An ant starts
its journey from point A towards point B. On its way, it moves vertically for some time and parallel
to the base for the rest of the time. What is the total distance the ant traveled to reach point B from
point A?

(Que:15) VOB FRERITACT STeT SATATHA 33% NTOF AR | W N
RERIRTRR 3% =T ST | I 67 T SIATEAG Ao RERIT N T, O (N6 FOMGH
TOP RFIA TS N2

At Newton University, 33% of all athletes are honor students and 3% of all honor students are
athletes. Given that 67 atheletes are not honor students, how many honor students are not athletes?

(Que:16) If0 TSN (WG BAE ST IF-ToTe*! NN, JF-5GET*! AMFT, G-
TOH NP 8 6 G I | WD (WG FLONG GAZ® Ref?

1/3 of the people at a party were women, 1/4 were girls, 1/6 were men and 6 were boys. How many
were at this party?

(Que:17) N~ FOBTAT 2021 (ATH (G LI WY, IS 6, 7, 8, 9 MTT ©191 F9(1 AfS
CPCE Ol 5 IS ATCIH?

How many numbers less than 2021 are there which, when divided by 6, 7, 8, and 9, leave a
remainder of 5 in each case?

(Que:18) (V2R IR JHG CoPMHI ST TR | (T ST (AT 1/10 [T S0 M A1,
1/10 B FACEAS ©I-3 2T | ST D2

Neha has a special number. If she subtracts 1/10 from the number, she gets the same result as when
she multiplies it by 1/10. What is the number?

(Que:19)



fSTaa (6 ITNT CHFTF 16cm? A8 FICEAT WL CFAHe | cm? X0, IS I CFaed
PO cm??

In the figure, if the area of the small square is 16 cm? and the area of the black part is 1 cm?, what is
the area of the large square in cm??

(Que:20) (BN AT fRBN O WA (GLF 42 Q@R

There is a number whose double is greater than its half by 42. Find the number?

(Que:21) A6 ATNI T 20% *ISIL*Y Z1 FIN 2| I R TG YT NG FA09
R0 TON T IS o1 AT RAI?

After a price reduction of 20% an item has its price increased to its original value. What was the
percent of the increase?

(Que:22) AF6 fTGUTR fOF 2 (T TAEHCN 2, 4 8 6| {AGTHIOI CFaFA F9?

Find the area of a triangle the three arms of whose are 2, 4 and 6?

(Que:23) (TR LT LN 1, 2 G 82 LI fNTS QIOT ™ (FIAT BVRITH
TP 1, OITHRP TN -2 HLYT Ifed | IV FOBTAT G-2AT2N HLYT ™(R?

We call those positive integers that have no other factors besides 1, 2, and the number itself, "Two-
Prime' numbers. How many such Two-Prime numbers are there?

(Que:24) X AT 2023 HIMIE SLAT TE ATSTHF0 0T 11 94N X 1111 0T @ T
TG (T2 574G ST T, O WARDTAR (T TS 22

X is a 2023-digit number where every digit is 1. If X is multiplied by 1111, what will be the sum of
the digits of the new number that is obtained?

(Que:25) (V2T 352 S5 56 T FNCHH FTI (ML, A1 T ANSTATI (VHA 191 (5
STETEE FIOI THITS 6 (AT NTS?

Neha rolls 5 dice at the same time and sees that the sum of the numbers obtained is 19. At most, on
how many dice could she have gotten a 6?



Que:26) If 126 x 126 =7 x 7 x n?, find n.
(

(Que:27) G0 fAGQUGIE 12 29 (<Y IAEHCN 7 (AN 8 14 I T 47 =/ 956
NE ST Y =TT OIR(A TSI IZSN & HHON ATANF W& AT F© 2

The lengths of the sides of a triangle are 7 cm and 14 cm. If the number of centimeters in the
perimeter is a whole number, what is the positive difference between the greatest and the least
possible of perimeters?

(Que:28) AT & TG JF N2 B (ATHF ATNII M (OIS NF FICET| AN 8
TGN SO IATEFIN TOI 9 N2 8 3 N2 | Frol FNNE g 81 Nfero =012

Reema and Sujan depart in opposite direction on a one mile trak. The are going 9mph and 3mph
respectively. In how many minutes will they meet?

(Que:29) WG T ATV ATSH AT 51T ATHTI F 4T K A2 | Wog Ay 56
°1f;1<l$1 IAIA PG| OIRET (W] JCAT (oI, 9T ﬁwwaswﬁmm?

Shuvo is calculating the average number of children per family in his village. There are 5 families
living in Shuvo's village. Which of the following values can his calculation never be?

(A)1(B) 1.2 (C) 1.3 (D) 1.4 (E) 2.0

(Que30) IM x x y=14,yx z=10 I z x x =35 A O(I x + y + z- I NN F©? T4, x, y, z
AT GNP AL |

Ifx xy=14,y xz=10, and z x x = 35, then what is the value of x + y + z, where x, y, and z are
all positive integers?

(Que:31) ST WTEATH JBI0 ST IACE, (TN SANOT WF BT BVHA 24 T | SR
ST FAINF (T T I, O MR ST (9Tl Po (2

Wasi tells Alok a number such that the product of its digits is 24. For the smallest number that Wasi
could tell, what is the sum of its digits?

(Que:32) ﬂ?ﬁizﬁm 2,3,6,8, 8,.. A6 GO o (IR (T AN FT *M (2 8 31 I
(AT ATOTHIO N I O I8! F26 AT BTHEAT JFP F[T W | I T
(@I, 20179N G F© (2

A sequence is formed as 2, 3, 6, 8, 8,... Its first two terms are 2 and 3. After that, each term is the
units digit of the product of its two preceding terms. Now tell me, what will be the 2017th term?

(Que:33) : It f=TG foR fOR YNIYF FTHLUIF (T 7 T, OIRCe OITHR NI CICIHICAT
(6 ST N S F© (O A2

If the sum of three different positive integers is 7, then what is the maximum possible value of any
one of those numbers?



(Que:34) Y (MY (T 950 fagrod ST (e W foF fOF | 9= T (@,
CICHICNT 26 (IR NN FIN TS 20O A2

You observed that the values of the three angles of a triangle are all different. Now tell me, what is
the minimum possible sum of any two angles?

(Que:35) JPOI INCOIGLA TOGH WLH AR FLACR, OINS 6 I 1 OIS (T AT,
JIfHT SIS | SR SIASNHE NHS 5 O 2 Or9Y Wy MfEce 57 1| 1w
FAPTOT | TN (NG INCOIGN BHAES IS AL 100 X, OIS FABOIF NN
POGN?

In a picnic, 1/6th of the total participants are Bangladeshi, and the rest are Indian. Among the
Indians, 2/5th live in Delhi. The rest live in Kolkata. If the total number of people present at the
picnic is 100, then how many people are from Kolkata?

(Que:36) AFG (FIVF NN 55-n fOE, (TAH n IFT GGF FTHLW| @ (FCR
STHP (PR W o [Bfa?

If an angle measures 55-n degrees and n is not equal to zero. What is the degree measure of the
supplement of this angle?

(Que:37) IF6 fTQUTR fOF 2T (T TAFHCN 4, 8, 8 12 | {AQTIoT CFaFd F9?
Find the area of a triangle the three arms of whose are 4, 8 and 12?

(Que:38) 20-ON (NIfeIF HLYT 71 (e 26-0N (VTP HLLI F©?

If the 20th prime number is 71, what is the 26th prime number?

(Que:39) 6x + 10y =21 4R 10x + 6y =91, R0 x + y-I9 N[N PO?

6x + 10y =21 and 10x + 6y = 91, what is the value of x + y?

(Que:40) A0 AT Tl DTS G OITAL ST, WEN 8 NN WG TATGHCN 24, 17 &
25 HNTTB WG FARA | SITHR AL 66 TIHT GATT 9f6 IER AT AfS WG G
ATTG (I R | 10 WG A ORI NG ATAG 261 22-97 (I | ©I=CA T*N WG ©OIT
SN F© AT WG FAZA?

A rugby team scored 24, 17, and 25 points in their seventh, eighth, and ninth matches respectively
in the previous season. Their average points per match after 9 matches was higher than after the
first 6 matches. After 10 matches, their average points were more than 22. So, what was the
minimum number of points they scored in the tenth match?




(Que:41) (OTNIF IGT® M QU T 551 AM0G, OIRCA LN (TP 17 6T HF (N1
TGO FAGT G2

If it is now 5 PM on your clock, then what time will it be on your clock 17 hours from now?

(Que:42) TR IS WG (RG GRS 7B T S fF1%e | J7917 (o7 (78 {6
FINGE GIET FONO YA SN 8 (VRN WOLH (R | OIS O I FTINSTAT
NCFHN FE| QYN RNCHCNT 2T 6, 7, 8 VIR BT [ (TIATN (M418), 1 g Oy
e A0S I8 FAMRA | fRoIT MEFCHR AT TR AL (515 R 23 4] TorT
TR 2T (TS 2T 171 OI= fONIB ST TS STLATI (N SATH TS (O
A"

Ritu wrote two consecutive numbers on two small pieces of paper. Then she attached these two
pieces of paper to the front and back of three coins. Then she tossed the coins three times. After the
first toss, the numbers 6, 7, 8 were on top (show diagram), which Ritu then colored red. After the
second toss, the sum of the top numbers was 23, and after the third toss, the sum was 17. So, what
can be the maximum possible sum of the numbers on the three white papers?

(4)18 (B)19 ()23 (D) 24 (E)30

(Que:43) STITHTY (I 4T FS6 WS 176 NTET NI A4 T (T, AFSH sy
W2 FNATF 16 B NI AP J33 (I IO I ST SYTF WG B N2

What is the greatest number of bags that can be used to hold 17 marbles if each bag must contain
one marble but no two bags may contain the same number of marbles?

(Que:44) TRGE fRYRWTTEATT STFe1 SIATAG 33% FTOB FERIT | WAF FroH REeitn
3% T SNIATAG | TR 67 TN SHATHACG FToP REFIN W T, O (W6 FOGH N[O
RERI STTTAD N2

At Newton University, 33% of all athletes are honor students and 3% of all honor students are
athletes. Given that 67 atheletes are not honor students, how many honor students are not athletes?

(Que:45) AF6 TSI (NH GAFOF JF-Torae N2l -5 AEH, I5-
T AT 8 6 G TP | DI (N6 FOGH GAZ® Ref?

1/3 of the people at a party were women, 1/4 were girls, 1/6 were men and 6 were boys. How many
were at this party?



(Que:46) T & TG JF N2 B (ATHF ATNII M (OIS NF FIET| AN 8
TSNS SO IATERCN 0T 9 W2 @ 3 W2 | o N6 AF &1 FNfeTo =72

Reema and Sujan depart in opposite direction on a one mile trak. The are going 9mph and 3mph
respectively. In how many minutes will they meet?

(Que:46) (BN 37347 fOF O WA (GTF 42 Q@R

There is a number whose double is greater than its half by 42.

(Que:47) BRTLTST fNTER fHTas <Ife TIHNTS 1 (AT 9 VFIBTET 4TS B, (TN
NPT 7B AT BTFe 15-97 (@ N TV | G4 BIBT GRS AN OPIATOR
G} OB AT AR?

Tasnova wants to write numbers from 1 to 9 in the empty spaces of the figure below, such that the
product of any two adjacent numbers is not more than 15. Now, how many ways are there for
Tasnova to fill the empty spaces?

(A)8 (B) 12 (€) 16 (D) 24 (E)32 .
(Que:48) 20235 TINF AN AT CTNFA 2023 | STRCA (12 TSI VYT FIACHCT IG
O ARG (576 F©?

The sum of 2023 consecutive integers is 2023. What is the sum of the digits of the largest of these
numbers?

(Que:49) SN WAFS JF6 INCHAT AfS 2 (T | 1.1 | SR 82 AT D
(6 FOBTAT Y |R, T INCHET 76 MR (A 15F 1 G1.7. 77 w1fze?

The side length of a square located on a plane is 1 cm. Then, how many points are there on that
plane that are exactly 1 cm away from two vertices of the square?

(Que:50) ABC STN(G12 fGQU& LABC=400| LEAB {2 2DCA, [RTH*r® 4 76 (113
SN | O LCFE (16 392



In isosceles triangle ABC, ZABC=400. ZEAB and 2DCA, these two indicated angles are equal.
Then what is the measure of angle 2CFE ?

(Que:51) GH/TO AHTTI JTT 20% *FO1¥ J1 FAT 247 | JYN WRIK LI o7 [NERT FA0©
(A TONN TeTT PO *O[E* GG Z(I?

After a price reduction of 20% an item has its price increased to its original value. What was the
percent of the increase?

(Que:52) 4 B STNY UG HIOIBTAT AT W& F© A (1Y (7 I 2

How many degrees are in the measure of the smaller angle that is formed by the hands of a clock
when it is 4 o'clock?

(Que:53) AS TSt ALY T2
2,5,10,17,26,37,50,65.......

What will be the next number?
2,5,10,17,26,37,50,65.......

(Que:54) BN FF 9995%10005

Multiply 9995x10005

(Que:55) g Q51T q3% FORIG 51F AHID JBIRIR Y AGTH SR | (RPICAT 5 &
NEF AT RITGTT (N2 | O ST FONGI Q9T APNATR ATHTS A | (AN S F©
[truncated, likely "RI?YeT' or '21@'] RO AIL?

Some goats and three cows are standing in a circular path. No two cows are standing next to each
other. However, a maximum of three goats can stand next to each other. What is the maximum
number of [truncated, likely 'goats' or 'animals'] that can be there?

10



(Que:56) I35 fHoror IHf6 STNRZ fEgram A e (206 o1 AAN i 97 @91 e
5 c&rﬁéﬁﬁﬁ‘, A9 15 (LA/AING g3 1 fMTs 20 /NG #esr | Sr=eat 2=
A6 I JHATT (X6 WSS fHANTHGI TG (I5 F© J(I?

An ant is walking along the sides of an equilateral triangle. Initially, its speed was 5 cm/minute,
then 15 cm/minute, and finally 20 cm/minute. So, what will be the average speed of the ant to walk
once around the entire triangle?

5cmfmi:7 \15 cm/min

-
20 ¢cm/min

(Que:57) TR FIFS IR FIL 0 (AT 9 AN (ST F1 (IT@ A | ©I=CA
6f5 MAIETRTR FIS MTT TN FAMG fOF LGF YL (SfF FA1 T2

Numbers from 0 to 9 can be formed using matchsticks. So, how many different positive integers
can be formed using 6 matchsticks in this way?

0124456 THA

(Que:58) M 126x126 = 7x7xn?, TV O n =2
If 126x126 = 7x7x1?, find n.

(Que:59) 6 fAGQUGIE 12 29 (<Y IATERCN 7 (AN 8 14 I T 47 2T/ 956
NE YT =TT OIR(A TSIT IZSN & HHON ATANF NET AT F© 2

The lengths of the sides of a triangle are 7 cm and 14 cm. If the number of centimeters in the
perimeter is a whole number, what is the positive difference between the greatest and the least
possible of perimeters?

(Que:60) G~ 15010 FTIN (GRIAT 8211 BUG et | O W& 806 FIN '(TT' o,
JIFSSTEAT (51 | IS GifN BT, '(XQ' 8 '(BeT- I ST TNV (X | JGNT OId FOBTAT
(TG NG FCI GAC6 M =2

John threw 150 coins on the table. Among them, 80 coins landed 'heads' and the rest 'tails'. But
John wants the number of 'heads' and 'tails' to be equal. For this, how many 'heads' up coins does he
need to flip?

(Que:61) A AF6 =44 He4w (U T G50 A LT RTMS FR (T 12 O F
SLTVLONE BN B (e 448 | AT T{GF (TP 92

11



Rasel subtracted two positive numbers and the difference was 12. Toma multiplied the same two
numbers and the product was 448 . What is the sum of the numbers?

(Que:62) O, GifN @ e B0 o7 fNEE AfSTaforers S AT | O[T Ao
NS B0 (SNETF WA @ 5 I B (O FNTF SRR (SNF WA T SR (Y
PAD0 WA IR, (T (AT ATT6 [NIHF® TV = forg T (i Tesg | (o1 (572
AFSTAINST (T (MAT (57, ONT 46 ATI0 3 G 34 A6 (ATACR | feifed ©Orzed
AT (ATAMREA?

Toma, John, and Lily participated in an archery competition. Each of them threw arrows 5 times at
a specific target. The target has several sections from which points are determined, as shown in the
adjacent figure. At the end of the competition, it was found that Toma scored 46 points and John
scored 34 points. So, how many points did Lily score?

QO

°
Tom John Lily

(Que:63) (TN ST G RN Ol W (6T 33 (I

There is a number whose double is greater than its half by 33. Find the number?

(Que:64) AF6 TN(HA fFG 41T (Edge) 16T A0S T FT T, MO TNHT ATSO ST HFS
(6 A Edge ATFH | TP PAON FAO Edge A 8 FI *RS0 IV TEI?

Some edges of a cube are colored red such that each face of the cube has at least one red edge.
What is the minimum number of edges that need to be colored red to satisfy this condition?

r===F-

(Que:65) 1, 3,7, 15, 30, 56, 98, ...q2 4RI HITS! AR F0"

1,3,7, 15,30, 56, 98, ... What is the next term in this sequence?

(Que:66) M 5T, 56 ST WHFNIT WEIS <32 26 ITe (Y (M1 ICHR | AT
10 TEICS I F©?

The adjacent figure shows the lengths of 5 semi-circles of equal size and 2 circles. What is the
radius of one semi-circle here?

12



22 16 2

-— -

(A) 12 (B) 16 (C) 18 (D) 22 (E) 36

(Que:67) IM 161x161 = 7x7xn?, TV O n =2

If 161x161 = 7x7xn?, find n.

(Que:68) fora BTG MBT BFT I, P 32 5 IS OHI NOFIS TIq
(RN ICAR | (N FIB MG AN AT WA ST QT A2

The figure shows the starting position, direction, and distance covered in 5 seconds for four cars.
Which two cars will collide with each other first?

(Que:68
- 11T i' :
;"-,-"_-_,7 . “«—s )
A ..........

(Que:69) AN 5B (511 BIFIS DTG | (57 QRTAT (AT (IR oft ey 9=f6 Brewa
JNITS B | (UM JHBGI IG HIF[OF S S ST JHI6 (RG SIS 4 I | JOI
SIS O SATCY GIS TR A1) 541 57832

Orin has 5 round discs. He wants to build a tower using any 3 of them. A smaller disc must always
be placed on top of a larger disc. In how many ways can a tower be built this way?

-
e

(Que:70) 2OT AT FErad UIfeT TABTAITS 1 (AT 8 VIS SN JNNSIF 4TS BT, (TN
ARSI YT STEAR CITeT SN 2| 3% ATST FACTI FALNSTEAT (TFAS
ST T (57 3SR 3, 4 8 § - G2 OB ST247 forad Nrel [F0e (Frag | 99~ B
PICET T O (PN AT IS =2

13



Eva wants to write numbers from 1 to 8 in the empty squares of the adjacent figure such that the
sum of the numbers in each row is equal, and the sum of the numbers in each column is also equal.
She has already written the numbers 3, 4, and 8 as shown in the figure. Now, which number should

2]
1
385 9

she place in the black square? —
(Que:71) JH(6 (P NI 27 -n TGS (TN AHI0 4 F A S| & (FIVE STHTF
(IR TN Fo fBfae

If an angle measures 27 -n degrees and n is not equal to zero. What is the degree measure of the
supplement of this angle?

(Que:72) AF6 TS IR GRE FACO 1 FNNG ST ATIGH =V 7 6 AN I
PO RFANE AN 79I OT% FACO 39 AT ATAON 2(J?

If it takes one minute to make a cut, how long will it take to cut a 7-foot pole into 7 equal pieces?
(Que:73) 20-ON (NITeTH ST 71 (T 28-BN (NIl AL &?

If the 20th prime number is 71, what is the 28th prime number?

(Que:74) 6x + 10y =21 {<] 10x + 6y =91, (e x + y-AJ N[N $9O?

6x + 10y = 21 and 10x + 6y = 91, what is the value of x +y?

(Que:75) STATHTY (I 4T TSI ST 1315 NI NI A I (T, ATSO sy
T2 FANCTE 110 A WIS BT G2 (AT O IS ST HLUTF WG AHCI N2

What is the greatest number of bags that can be used to hold 13 marbles if each bag must contain
one marble but no two bags may contain the same number of marbles?

(Que:76) BT W@ =S TMTe 46 I 516f® IF6 BT TIREd A NI
14T =T, (TN (TN G0 5% fATT 8 S4mf6 (a1 I | Or=ted W= 5% e (I
HLYINASTAT (T J1C]?

A black disc with two holes, as shown in the figure, is placed on a clock dial such that the number 4
is visible through one hole. Which numbers will be visible through the other hole?

14



(Que:77) AR fora fFg OHT 8 WG NF (@4 BT AF(0 AT tofF F1 AR | N6
(TG 82 fAT g3 =12

In the adjacent figure, a grid is formed by some vertical and horizontal lines. Which of the
following is a part of that grid?

T

—
—_—

@) (b) (©) (d) (e)
(Que:78) AP0 STNBTH THFIHL TNIBH (W6 PO F ACH?

How many diagonals does a parallelepiped have?

(Que:79) T AF6 Y LT (ATF WA B0 2 ST RTI FA (e 12 TN &
SLATLOITE BN B (T 448 | 5247 O (T91Fe F9?

Rasel subtracted two positive numbers and the difference was 12. Toma multiplied the same two
numbers and the product was 448 . What is the sum of the numbers?

(Que:80) m N n (BR NN TP “’i“ﬁ'ﬂ%'{m O 1+2M=n? Y| 10m+n-JF AFT ASIY
N g9 (1R (I BT

m and n are positive integers such that IO 1+2™=n?. Find the sum of all possible values of
10m+n.

(Que:81) ABCD J5f0 SN d | AD 129 NI E 32 ED-A9 W F| AB IA2(F
CE (41 G ™M@ dd3 CD I1=(F BF (41 H [I™MT® (F% B ABCG I8 ABCH-AJ
CHFIPET AYATOTF T ATS QR - FRFI @I, BT 10me+10n+mn-F W ([

PdI

ABCD is a rectangle. E is the midpoint of side AD and F is the midpoint of ED. Line CE intersects
side AB at point G and line BF intersects side CD at point H. If the ratio of the areas of ABCG and

ABCH is written in simplest form as % , then find the value of 10m+10n+mn.

(Que:82) ATTITHAI FICG TR0 20 O R T TR | (7 BT U206 GBI ¢ BT
CIISTFT (V| (TN STLLTO SSG STSIIN S (A (@2 (ABf0 20 O [T 21 2057
A6 ATZGN I Igeas (@NEe IB) 9 20 6 O 0T (TN TARLTATS | (AH
20 IS LY (@14 ACICR | A BT ARG T4 SHF SWIR STNI)
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Payel has two 20-sided dice. She rolls both dice and takes the sum of the rolls. Which sum is most
likely to appear? (A 20-sided die is a polyhedron (3D object) with 20 faces, where the faces are
numbered from 1 to 20. Each number has an equal probability of appearing on each roll.)

(Que:83) A0 SITTIE GATTNCG d NEL I3 AT V[T 10 T (A-SF WG (YA
IRSTT #10-9 ATH TLHAZVHIAL #9-(F HITAE LI A3 (T T (3T 10th AT AT,
IF (T fOr® 7 NI #8-(F BT B | ATHF N (T fSr® (F R #7-(
BICAE FH I3 (T 2TH (F 9th ATRG A | JOII FTICHTT (F6 #1 (F B I, W
5T (4T (T TGS, (T 15t TG AT | G2 SO (-F WLHNAZVFIQAT (N6 FOONI
ARG (TS AR?

In a Sudoku tournament, the top 10 ranked players play off. The participant ranked #10 challenges
#9, and the one who loses gets the 10th prize, and the one who wins challenges #8. Among them,
the one who wins again challenges #7, and the one who loses gets the 9th prize. This continues
until the winner challenges #1, and the winner of that game gets the 1st prize. In how many total
ways can these Sudoku playoff participants receive prizes?

(Que:84) fAN IN JF6 (@FGATH AR, (AN (T IF6 (LT (ATA HWRATGN I |
C4ETTBT AN (T, FANTE FGBIT JHT0 4GB AT 4N AW FACS Q| I 20S
SmfG 7 QT RSOy T, O (37 JF0 TEATGHN A | N THf0 OITFA® AR
I, (I FAN SITrFAOIE WA IR FACO A | GO N IO 2500
CINFABIE IR FACS ARO[ IM % 7 FRT OGN, I (N AL AT
AT T, OI=CA TS (AT I | AR 2023- 93 FISRATA (2023!) 2 FI| (5 TS0
WA A2

Premi has come to a restaurant where she can get an ice cream by playing a game. The game is that
Premi has to provide a positive integer to the counter. If the given number is divisible by 7, she gets
an ice cream. Then the counter provides the quotient, and Premi can use that quotient again. Premi
can use the quotient as many times as she wishes. However, if a number is provided that is not
divisible by 7, the game stops. Premi provided the factorial of 2023 (2023!). How many ice creams
will she get?

(Que:86) TR 51T Y6 INTHA Wy, I I2F (AT 1 43V | INOI MY 43¢ fNoa
IZA NN AT G0 J& TR T T | O IS G F©?

In the figure below, there is a square with side length 1 unit. A circle is drawn through the vertex of
the square and the midpoint of the bottom side. What is the radius of the circle?

N

(Que:87) 3baaa JF6 5 TTHI JLI | ST 36 & 11 GoF JL BHT [[FOrew | Ae4mfod
W P9 09 ATCT?
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3baaa is a 5-digit number. The number is divisible by both 36 and 11. What is the maximum
possible value of the number?

(Que:88) ABC=DBC = SN2 f@gwi| fod A & D (a7 %f6 BITK (T | AB=6| QAN
W Pl (I3 AT OBAMD an—bve  -IF NTOI Z(A a+b+c-IF NN BB 7S |

ABC=DBC = equilateral triangle. Figure A and D are the centers of two arcs. AB=6. Find the area
of the shaded region. If the answer is in the form an—bvc , then give the answer in terms of a+b-+c.

(Que:89) T2 G I, BB (LET (FATR | {2 TN M6 foF T4 IR | YW I O Y
YIT LI 2 JIAT B B 3 F[RCW9 B | [R0I I O FI0T AT LI 3 JIAT B
I 2 RO IR M2 T Ig2 SN 19 A (LB (TN | TSN L1 ST ©Ivd IR A<
ST 2T ST =T 12 I9 AT (NS 54T 267 21T TN 200 =(Q | 12 IGF
YT (N ST YT F{OF (FFe] F9?

Two friends are playing a game. Both friends have taken two different numbers. The first friend
multiplies their number by 2 and subtracts 3. The second friend multiplies their number by 3 and
subtracts 2. Both friends play the game for three steps. After three steps, their numbers become
equal. The difference between the numbers initially taken by the two friends must be minimized.
What is the sum of the numbers initially taken by the two friends?

(Que:90) MG f5T& AB=BC=CD=DE=EF=FG=GA, OTX(d ~GHC (2ATX)- 43 N (I3 FT|

In the given figure, AB=BC=CD=DE=EF=FG=GA, then find the value of ZGHC
(approx.).
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(Que:91) M 3 (AT 3072-GF NT 410 BTMSI AR W [RATN A, T AT 7 3 8
N V7 3072 | WA BIAMG W TN $9?

If there are 4 geometric means between 3 and 3072, where the first term is 3 and the fifth term is
3072. What is the sum of the middle four terms?

(Que:92) (AT AHT0 LT IBI ST TS [x] ZCAT O A0 =¥ | (T
[3.14]=3, [5]=5, [6.9]=6 z R(ET HAICH(T TG B LT T G5 [%Jﬂg =52 21z - A9 NN
FS?

For any positive real number, [x] is its integer part. For example, [3.14]=3, [5]=5, [6.9]=6. Let z be
the largest real number for which |3/z]+|4/z]=5. What is the value of 21z?

(Que:93) ABCD 43f6 3471 P {6 I0519 (Oota N~ AE® (T, AP+CP=27,
BP-DP=17 3% £DAP=2DCP| 35 ABCD 4% CFaq%e (NN S|

Point P lies inside square ABCD such that AP+CP=27, BP—DP=17 and ZDAP=2DCP. Compute
the area of the square ABCD.

(Que:94) fo Y T WHF IF0 GNIYF LT PQRSTU (I FATS BITER (TUTH
(P,Q,R,S,T,U T B WfORS (S ANH) (UM fSN WTHI JLT PQR AL WA fo
WS AL STU -4 (F197peT 37 RI1 VT fRorey 2| 459 ol for fon Sy
oI (]9 FACO A2

(T (CHT, ﬂﬁﬂmﬁﬂiw AYN HF 0 (O AT A
Tisham wants to find a six-digit positive integer PQRSTU where (P,Q,R,S,T,U can be identical
digits) such that the sum of the three-digit number PQR and the other three-digit number STU is

exactly divisible by 37. How many such different numbers can Tisham find?

(Remember, the first digit of a six-digit number cannot be 0!)
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(Que:95) ABC f&QUG £B=500 {4 £C=600| D, BC-4I9 N9 | faQ® ABC-AF ARIS =
N JF6 96 T {Tqrod foG AMER[~ 0T 91 ACD 938 ABD-IF IS AB 38
AC-(F ISPV F IR E I(<\1“‘1(.\') (2" P4 AEF-49 AfF J(8J (PH Ol LFDO=?

In triangle ABC, £B=500 and 2C=600. D is the midpoint of BC. The circumcircle of triangle ABC
is a circle that passes through the three vertices of the triangle. The circumcircles of ACD and ABD
intersect AB and AC at points F and E respectively. O is the center of the circumcircle of AEF.
Find £FDO.

(Que:96) M 3 (AT 3072-9K N7 415 BTNST LA W ATV A, T AT 7 3 8
N N7 3072 | WA BB HHL ST $©?

If there are 4 geometric means between 3 and 3072, where the first term is 3 and the fifth term is
3072. What is the sum of the middle four terms?

(Que:96) T2 T 120 OF T g™ F | 12 77 ATS LTV fNTGE IR AT ST 2
QI B BCI 3 (AN BRI 11 4197 AN OIHF IR ATHN AT 367 [REI9Twe 81921 72
I AYTA AW BT ST 207 ALHT F9?

Two friends chose two different numbers. Each friend, in each step, multiplies their number by 2
and adds 3. After 11 steps, the difference between their numbers is 8192. What is the difference
between the numbers initially chosen by the two friends?

(Que:97) BfId 35 5K IR €T 76 Frel[d S| OITHE RIS SR 160
INNOIR1 A 93¢ B R W 2y N6 Fean|

The side lengths of the two squares in the figure are two natural numbers. The sum of their areas is
160 square meters. Find the distance between points A and

A

(Que:98) 2 W(HF FOYTEA YAIYF YT |R IMHT AR QTR NG JHT0 (Nfeis
LU
(TN, 51-9F AESTAR 51 3, I JF6 A AL

How many two-digit positive integers are there whose digits' average is a prime number? For
example, the average of the digits of 51 is 3, which is a prime number.

(Que:98) ABFE 36 STNIBRAF 3¢ BCDF JF(6 99571 BCDF-JR AfIANT 20, ABCDE-A
(AP 50, AM =4 F<R FN = 24/5| ADEF-99 (3P« (I KT
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ABFE is a parallelogram and BCDF is a rhombus. The perimeter of BCDF is 20, the area of
ABCDE is 50, AM =4 and FN = 24/5. Find the area of

A E

\
ADEF. ¢ N
(Que:99) TG FNE 16 CFAFARME IC INTHFH ST | (7 51T INCHFA [F% (6
INTFa AT /I IO | (R0 ICFARTEAR (W6 CFaPd, TG I CFaed

S| (3 FOOI (T61 FACS AAI? (A, (6 INTFI ST PN I G0N
TGN ST (161 fRICIGAT «F)

D

Miraj has a large square with an area of 16. He wants to fill this square with some smaller squares.
The total area of the smaller squares is equal to the area of the large square. In how many ways can
he do this? (Here, the arrangement or order of the smaller squares is not considered)

(Que:100) 2N, T[TV WK <5 {55 761 {FNeT | O IABTAT JUNSIF O Fe, (TAN

. TN IR FIEI B0 610 I ([ =g,
. 53 IR 2HGA BIRTS 16/0 JeT (IR =IR;
. 2O PR N GQY I @Y,

O SO I fBPIARA?

Ikri, Halum, and Shiku bought some balls. They divided the balls in such a way that —
e Halum has 6 more balls than Shiku;
o Shiku has 16 more balls than Ikri;

e Ikri has double the number of balls as Halum,;

How many balls did they buy in total?

(Que:101) W™ P HAPI(E O LA O [5G el HL 2 FACO (I (AT O MR
A1 F (7 fFg IgF VT TSI 6N FICS BT JNN *ITS (T, ATOIE I, A1 Fe
YT A9 TOG IHIN V(T T [0 T ZOHR (512 AT 76 AT TN =
NI ALAZHS T H00-97 (A NV | AT (NB FOI0 [ON GATT Feresfet
YR PO AT](?

Anindya went out one morning to collect some fruits for his friends. He wants to distribute the
collected fruits equally among some friends with the condition that the number of fruits each friend
receives and the number of friends among whom the fruits are distributed are equal. The total
number of fruits collected by Anindya is not more than 100. In how many different ways can
Anindya collect the fruits?
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(Que:102) T2 SR (PN GNP N TR STAR BOTH 12

For which two-digit positive integer is the product of its digits 1?

(Que:103) M (TN AT T ANMF LT (T (572 LA (AT | (I =T, Or=0e
OIS (NS 512431 0T | (TN DR &Y FAGZ, 1 (A 100 IS SANSTEAL WET Foi6
Yo STy ICACR?

If the sum of the divisors of a number is 1 more than the number itself, then it is called a perfect
number. Your question is, how many perfect numbers are there among the numbers from 1 to 100?

(Que:104) AF6 T8I CFAFA I3 ANIANR CIIFA 1207 X0, IS6I I FO?

If the sum of the area and the perimeter of a circle is 120x, what is the diameter of the circle?

(Que:105) IS SILAB F9?

What will be the next number?

83, 66,51, 38,27, 18, 11, ......

(Que:106) NI N F9: 2344454552-2344454542
Evaluate: 2344454552-2344454542

(Que:107) INTHH ABCD 43 AB, BC, CD, DA J1EF NI TAGHINE, F, G, HI AB=8 (e
BHG fQ9QUo CFasd F9?

ABCD be a square of side length 8 units. Let E, F, G and H be the midpoints of AB, BC, CD and
DA respectively. What is the number area of the triangle BHG?

(Que:108) BB FTOIRIF FLUMH I FA ITFA (AF T AL AN SRS f[{TI0Y
FICEA 285 NS | Mo 4w T

If you subtract four times a natural number from its square you will get 285. Find the number.

(Que:109) : HOTY JH6 NG g WIHE FACZ | TFOLF (@I Ol [T F400 (A8
2, TF0 Wge IO B | I (572 wIofS Rty Rorey 23, ez 1316 $ed R
(I 2000 A7 TR [N H0T TGy N1 =, O 76 Bad R0F (@104 2023 | o7
NI B GT TS 1234567891011121314...2023 SLATCIH (F 2 BRI Ol FATO
37T | TFfC Bwd RO Bt {912
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Prottoy has invented a fun machine. When the machine is asked to perform a division, it behaves
strangely. If the division is exact (i.e., the number is perfectly divisible), the machine outputs 2000
as the answer. If it's not perfectly divisible, it outputs 2023 as the answer. Prottoy asked the
machine to divide the number 1234567891011121314...2023 by 2. What will the machine output as
the answer?

(Que:110) a,b,c.d,e,fg.h,i TN 96 4N AL, (TN G AW 66 FLLTF 91 55 A2
(7Y 6fT ST2LTF TG 69 OTRCET (g—a)—(b—h)+(i—c)=2

a,b,c,d,e,f,g,h,1 are nine positive integers such that the average of the first 6 numbers is 55 and the
average of the last 6 numbers is 69. Then what is (g—a)—(b—h)+(i—c)=?

(Que:111) A,B,C JN oG ﬁﬁm AC=4045, CB=2023, BA=2022 9(d A,B,C RII A<
P ape] PO?

A,B,C are three points such that AC=4045, CB=2023, BA=2022. What is the area of the region
bounded by A,B,C?

(Que:112) QAT ATTNCGTN ST =T, NN AP YN ALY (IR Se6 P
LTS IF2 A (TN 16461) 1,4,5,9 G2 0 AR | IV 7 TS TAON AT G
LT T FE1

A palindrome number is a type of number that remains the same when written in reverse (like
16461). Examples include 1, 4, 5, 9, and 0. Find the smallest 7-digit palindrome number.

(Que:113) 2023 SRYIIF STeT [RTAMGY OIS T AN (97T PO (2
What is the sum of all distinct prime factors of the number 2023?

(Que:114) 2023 ST G 1 ©IfFY ARAF G2 2023 A IR 5310 WFR | @120
HITS! PO M AR 5316 VT2

January 1, 2023, was a Sunday, and there were 53 Sundays in 2023. In which subsequent year will
there be 53 Sundays?

(Que:115) M 2700 (AT 3 T 2T I [NRPIN 32 TIN 1800 (AF 6 T T A
GG ST IO AR | G2 OTT (FI JL UG ST FACI?

begins counting backward from 2700 by 3 and at the same time Jamil begins counting forward
from 1800 by 6. If they count at the same rate what number will they say at the same time?

(Que:115) n GI6 T2 SACHF B JAT | 203 (F n TATT ©I9 FACA 17 TIFIE AT |
R 296 (F n fATT O IS 17 WIME AP | n G TSI ST<ped NI [T BT

If you divide 203 and 296 by n you will get 17 as remainder where n is a two-digit number. Find all
the values of n.
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(Que:116) 64 TN I, AFGI (N (BT (TS IO | AR W& ARSI (T2 39 (37
IR (RLETR AT IR [T (AT S (VIR WHF T SR SO (N
RRIEGIPTY

64 friends are sitting around a round table for a meal. Among them, every girl said she was sitting
next to a boy. If the number of boys is half the number of girls, then how many girls were lying?

(Que:117) BN (PICAT JBMUA o706 FII TN I ST TN (RYTS AT (T, feTw06 (_ICAT
CEPICA ATV (AT 10 (RIS O (AT A | feTh6 YAT® I8 I 20O (VG 5
(RS AN A0 | I (PIF (ACF Ol SN (I (IO AN 109 1.5 (S | [TH06
B 3NN | Ol (YT 10 OATY (S| o766 ST FOATH ATNCES 3N 90 (TH G
YT 109N OATY (N RIS ANTACI?

Emon, one day while going up in an elevator, observed that if the elevator stops on any floor, it
stays there for 10 seconds. It takes a total of 5 seconds for the elevator to open and close. It takes
1.5 seconds to go from one floor to the floor above it. Emon went from the 1st floor to the 10th
floor by elevator. What is the maximum number of times the elevator can stop and Emon still reach
the 10th floor within 90 seconds?

(Que:118) 1 (AT 25-47 NCHT FOQRTAT STLT WY IHA 3 26 TS A< =y

How many numbers between 1 and 25 (inclusive) have exactly 2 factors?

(Que:119) 1 (ATH 9 YTV 42 9f6 AU W& (THI foR fOF 2f6 STy |8 =t (T
TR (TTF G0 (N Je4W 2T | I FI6 [OF fOF (G0l TEI?

From the 9 numbers between 1 and 9 (inclusive), any two distinct numbers are chosen such that
their sum is a prime number. How many such distinct pairs are possible?

(Que:120) abe A0 3 WTF I STLUT | a,b (AT FINF [RTGTG ATHALAN 15<a+b<201 ¢
(AT 2 92 b-IF AL | abe-IF FHG B ANWF WMDY

abc is a 3-digit number. a,b are consecutive odd integers. 15<a+b<20. c is the difference between a
and b. How many factors does abc have?

(Que:121) fa9G ABC G328 ATNISGF BFDC-I9 CFael JA@BCN 21 448 28| AACD-Ad
= QTBICH (T4 TR (TAMA 2 G b NN RN | a+b-A7 NN (IF BT

The areas of triangle ABC and parallelogram BFDC are 21 and 28 respectively. The perimeter of
AACD can be written in the form %where a and b are coprime. Find the value of a+b.

23



m

(Que:122)

P

fEafore BAIb JTad IS AN P [ (FHGIRGI FTINFIS! (U BN WI(ZS 43¢
PQ (YT (*1F JB6F ~¥F | M Jrad I 7 T IR PQ I NI 4T F4|

The four circles in the figure have equal radii. Point P is on the line connecting the centers. Line PQ
is a tangent to the rightmost circle. The radius of each circle is 7. Find the length of PQ.

(Que:123) fFSE ST G~ Ok {217 fSfE =f[0T crataw 1SN o7 o
JECET ST SIS WIHIR BIF S 3% 2 T &8 19T T6 S Gy Sran
STATSE FOI6 MG Fore =2

One day Leonard Euler lost his loving car. He asked his nephew to find that car. All he said was the
number of the car contains 4 digits and the first digit is 2. What is the maximum number of cars
that his nephew would have to search for?

(Que:124) YN ANALII n I FIG WTHT G (3n+2) (12n+65) I BfFoF 232
How many positive integers n are there such that (12n+65) is a multiple of (3n+2)?
(Que:125) 1x2x3x-+-x2017-A7 BTHTEF (T FAO 2T (0) YHFI?

How many zeros (0) will be at the end of the product of 1x2x3x---x2017?

(Que:126) 7 ST ST 74A52B1 8 326AB4C, 3 BIHI fRONGH | C-49 TN F9?

The 7-digit numbers 74A52B1 and 326 AB4C are divisible by 3. What is the value of C?

(Que:127) 7 T ST 74A52B1 8 326AB4C, 3 RIS OIS | C-AF NN F9? NI 8\
17,a,b,c,41 IB6 TS LT (A b-AF NN F©? (FI AT IM 2G4 G N0 2147
STV ST AT, OTRCE O TS -1 0T | (TNN: 1, 3, 5, 7 STNSF GG BV AfS A7
AIEFT QAN 2| fHF 1, 4, 6, 8 TS LA N PR AYN T2 AT AT 3 [ A0
21
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If 17, a, b, ¢, 41 is an arithmetic progression, what is the value of b? What is an arithmetic
progression? If the difference between any two consecutive terms in a sequence is always equal,
then it is called an arithmetic progression. For example: 1, 3, 5, 7 is an arithmetic progression
because the difference between each term here is 2. But 1, 4, 6, 8 is not an arithmetic progression
because the difference between the first two terms is 3, but the rest are 2.

(Que:128) (MSAT AR Given LABC=720 and 2£2ACD=198¢. then ZBAC=?

Given: ZABC=720 2£ACD=1980

Find ZBAC=?

c D

(Que: 129) TN IFH6 INFT FITGF fNIER B VCOT FF AT 42 K ©IG FAA
A3 Bf]F NCOT HCI FIOCA | FI0T (T JOI QN FI G FING A2

You fold a square piece of paper twice as shown in the picture below, and then cut it as shown.
How many pieces of paper will you get after cutting?

e

X

(Que:130) ; 8247 WAR ©AAT Fo?

What is the middle fraction among these?

)

==
wlN

(Que:131) fNTEa 2fIT® PQR fEGIST Q SINCHIT| PST 8 RTU 6 SINZAE fG@gsi| (@1
£STU=x0 T[T x-IF N F©?
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In the figure below, triangle PQR has a right angle at Q. PST and RTU are two isosceles triangles.
If angle £STU=xo, what is the value of x?

(Que:132) fNTEa BfAT® T I FIHI0 (@G I G TN TN FAE (g Ay
SIS | FITEAT T CFGHe IG T CROTE PO WLH?

In the figure below, the large square is formed by several small squares and right-angled isosceles
triangles. What fraction of the area of the large square is the area of the black

part?

(Que:133) B2 WIfel 2 T-OT IMSMTH BIFT AT AN | SN NI JBT F PGy FACO AT Y
TOR | T WS G &P BN F© STACY FACO AT

Two gardeners can finish a plowing job in 2 hours. The first gardener, working alone, can finish the
same job in 6 hours. How long would it take the second gardener to finish the same job alone?

(Que:134) 10 8 40 A V(KT FIG AT AT ICIR?
How many prime numbers are there from 10 to 40?

(Que:135) CNIfeT B AN [RTATY HFILT: 260

Find the prime factorization of: 260
(Que:136) AL JS! TLUD F©? 2,5,10,17,26,37,50,65.......

What will be the next number? 2, 5, 10, 17, 26, 37, 50, 65.......

(Que:137) QY AT : Multiply : 99999995 x 10000005
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Multiply: 99999995 x 10000005

(Que:138) n AHTG 12 W(FHI ABI JU| 197 (F n (T I FAA 11 WIS AT | ST
290 (3 n AT 19 FATS 11 WIAME ACF | n I TEIRT STHeT N (NIT FCAT

n is a two-digit real number. When you divide 197 by n, you will get 11 as a remainder. Again,
when you divide 290 by n, you will also get 11 as a remainder. Find all possible values of n.

(Que:139) X (3 6 BIAT OIS FA(eT 3 WA AT | IM 3x (F 6 BRI O FAT T OIR(] IO
WG ATHI?

When x is divided by 6, the remainder is 3. Find the remainder when 3x is divided by 6.

(Que:140) TR 1 (ATH 20 VTS AT 704 31 ST BTG JLLI (94T | SIYT6
1234567891011121314151617181920 | AT (3T SIAIG (AF GNN@I 2416 &z Im e
O WAL TRBTEAT TN Y6 TO0I TSI IC T | OIF AT ST 392

Arnab wrote numbers from 1 to 20 consecutively and got a 31-digit number. The number is
1234567891011121314151617181920. Then he removed 24 digits from this number in such a way
that the remaining digits form the largest possible number. What is the number he obtained?

(Que:141) SN IO GIATH 9 SIT ©I9 FATS B I3 FIGT® TSI BNRTe f5fF®
| IR GF2 OIS 8 WIS O FACO BT 3¢ FI6T© ST FABA! oz H| T
AT fBfF® VST PO (F F© Rl A2

Sumon wants to divide a wire into 9 parts and marks the cutting points. Bobby wants to divide the
same wire into 4 parts and marks the cutting points. If Kona cuts at every marked point, how many
pieces will she get?

(Que: 142) G TP 5B OIF (G & FCH | G (AT ITHIG (0o 9l 5 FNRG
ST #ICST | ST SN0 ST @109 15 TG | G997 (BINE (NRQto Wi 5 fNNG 54w
AT | AT SO ST 667TT B I ATS 10 NG ST IF6 B IPTOIG (ATF (RS
T | TATNCT (BT (MRS O AT QO AT SN F92

Jarif starts his training at 5 PM. It takes him 5 minutes to get from home to the bus stand. The bus
journey takes 15 minutes. After that, it takes him 5 minutes to reach the training venue. The bus
service starts at 6 AM and a bus leaves from the bus stand every 10 minutes. What is the latest time
he must leave home to reach the training venue on time?

(Que:143) IFg (I~ fJfon Wﬁf@ T ATCICG] ([N LI 5, 10 =T 25(C |
=1t 706 (@I e | (37 SRS o6 “IFG; [PrRet?
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Some balloons are sold in different packages. The number of balloons in a package is 5, 10, or 25.
Nihal bought 70 balloons. What is the minimum number of packages he bought?

(Que: 144) B2 WM (12 ALYTRTAT (I FCAT UL NN AR (TP 4 Q|
Find all the 2-digit numbers which value is 4 times the sum of its digits.

(Que:145) AT 2700 (AT 3 T T NI fNFRCN G2 TN 1800 (ATH 6 T AT 217
GG ST ICO AR | TLUN T TOIN2 J52 T OHIAY FACR?

Bina begins counting backward from 2700 by 3 and at the same time Jamil begins counting forward
1800 by 6. If they count at the same rate, what number will they say at the same time?

(Que:146) fagG ABC 492 ZLBAM=£MAC ; 2AC=AD | ZDBA=?

Given that 22BAM=2MAC; 2AC=AD; £ZDBA=?

N

(Que:147) 24 G~ I, AF0I (N (BRI (4TS IR | JTHA T ARSIT (NCT2 I (37
ARG (R AT AR | Elﬁ (RCTTM T ALY (NS Wéﬁs"iﬂ OIR(A POG (N
T JCeAfRet?

24 friends are sitting around a circular table. Each girl said that she is sitting next to a boy. If the
number of boys is half the number of girls, then how many girls were there?

(Que:148) 11 (I Ty 32 7 (.. 2TEF I Wrared Wied 7o IS Wine =g (B
5.11)1 & 7fO WS fSxID AR = F(A | IS 7O (FIHI VLS| UIF FO?

Two circles are inscribed within a rectangle of 11 cm length and 7 cm width (Figure 5.11). The two
circles touch three sides of the rectangle. What is the distance between the centers of the two circles?

e
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(Que: 149) fSRG fOF F A, B, C (NST XM | I TF W JZSN J4T TSN T
T, (U A SN 19, B 12 M€, C AHATD AR | JOI (N SLYIG S 28T 58]
A2

() AAABBC (¥) CAABBB (91) BBAAAC (Y) AAABCB (%) AAACBB
Three distinct digits A, B, C are taken. Then the largest six-digit number is formed, where A

appears three times, B twice, and C once. In this way, which number is not possible to be the
maximum?

() AAABBC (¥) CAABBB (%) BBAAAC (¥) AAABCB (%) AAACBB

(Que: 150) FNTET TFIRBL® 1 316 S NTF T | THIRBLO 76 O AR | AN 73
2R AT (ST MR | GO BT AT O ATH6 F© AI?

Dina shot 3 arrows at the target below. The target has two parts. The points for the first two
pictures are given. According to the third picture, what will be her points? [Images show targets
with arrows, showing scores of 12 points and 15 points, and a third target asking for the score.]

HO®

12 AT 15 20D ?

(Que: 151) G0 M 55 976, o 8 N WCY, I (G JAA 151 1016 21N <6
3, {55 8fC 21N 191 | A9 WRT WR?

There are some cows, goats, and buffaloes in a garden, whose total number is 15. 10 animals are
not cows, exactly 8 animals are not goats. Are there buffaloes in the garden?

(Que: 152) (OTNITH WWHAS 1x1, 2x2, 3x3, 4x4, 5x5 B 6x6 BT I3 (M ZCT| 4 (AP
106 T QYR BT TS (V6 CFawe 48 T |

You are given an unlimited supply of 1x1, 2x2, 3x3, 4x4, 5x5, and 6x6 squares. Find a set of 10
squares whose areas add to 48.

(Que: 153) fNTER 4TI 79I UG F©2 n-ON 2MH2 I PO? 3,8,17,32,57...
Find the 10th term of the following sequence? What is the n-th term? 3,8,17,32,57...

(Que: 154) p, 3-I7 (51T IG JHI6 (A SI4T| p2(F 12 BT O FAE IS WAIMFY
YHI?

p is a prime number and given that p > 3. What will be the remainder if p?is divided by 12.
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(Que: 155) I3f6 WTSIFIR CHTAT FUT 7 Oy IF CisTF (60T 2 (I Y I 93 2%
10 (I 2T O1F 47 TR F9?

The diagonal of a rectangle exceeds the length by 2 cm. If the width of the rectangle is 10 cm, find
the length.

(Que: 155) TNTER fod (AT *12Y 3F 2x2 WHGT I AT A 92 FACS 5T | (3
POWI] @I%ﬁlf? PICS ATA(?

From the figure below, Shaiq wants to color exactly a 2x2 square area red. In how many ways can
he do this

1
|

d

(Que: 156) TfIT IO GATNTOR (PO FI2NT, (INFIRNA, FIRNCAF FeATwed oL
QYT | PelRpe] BT JUATTN OIS (T (R -

. REYEEHE AT,
o PG R AN,
o GITN 2N AT

(3 (I PR (AARA?

Habib wrote down the results of a tournament's quarter-finals, semi-finals, and finals. The results
are written in a jumbled order -

Bipu defeats Anku,
Kabir defeats Durjoy,
Jasim defeats Halim,
Jasim defeats Kabir,
Kabir defeats Bipu,
Imon defeats Fahim,
Jasim defeats Imon.

Who played in the final?
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(Que: 156) fNTER fora AATS® FISRTIAT A, B, C, D & E WIZN I |R | FHSTE OIRA
Se5y2re 8ft I T FACR| FISROANSTEA O FIRI IMTNID (TS JF2 TNCT
G2 NSTS FOIS ©F FeT | YN IMIN AIST A FITCIASTAT WCIHO IMTHD
T (RI6 & FIT | (N JII0 [orT ImrNie e

In the figure below, five squirrels A, B, C, D, and E are sitting at their positions. The crosses
indicate the 4 nuts they collected. The squirrels started running at the same time and at the same
speed to get the nearest nut. After getting the first nut, the squirrels started running for another nut.
Which squirrel will get the second nut?

(Que: 157) A6 OIeT ALYT A JROHF JF6 LT TE AT 7Y fOF, G2 IF WG F
RN FICE (T ST NS AW SR (TP | (TN 110 = 37+73 GF16 ©I J4T |
FOBTA O JLLT AGIS 4|

A good number is the sum of a two-digit number, with distinct digits, and its reverse. For example,
110 =37+73 is a good number. How many good numbers are perfect squares?

(Que: 158) 100-99 (G GIAMD (N ST (I BCAT 332 — 232 47 T AHF |

Find four prime numbers less than 100 which are factors of 332 — 232

(Que: 159) BCD J36 599G I AB (F4TT M 8 N 726 I |TE AM=MN=NB 433 CD
(AT P 8 Q ™M WMR CP=PQ=QD | ANV H(JT (I, FaPe] AMCP =§ CFa®el ABCD|

In the convex quadrilateral ABCD, points M, N lie on the side AB such that AM = MN = NB, and
points P, Q lie on the side CD such that CP = PQ = QD. Prove that Area of AMCP == 2 Area of

3
ABCD.

(Que: 160) ABC @9 D, E 8 F TAGHCN AB, BC 8 CA IR 89 WIF® | 432 AD = DB,
CE = 3BE 8 AF = 2CF| ¥ ABC fA9ro CFaw 480 I (N =T (3 DEF fagre|
PP FO?

In triangle ABC, D, E and F lie on sides AB, BC and CA respectively. And AD = DB, CE =3BE
and AF = 2CF. If the area of triangle ABC is 480 sq cm, then what is the area of triangle
DEF?

(Que: 161) IR ©TF 10 NOTH 180 6 T (N | ATOIHA ALY NI He 47 foRF foF|
=17 STRCECT @ WA A1 | (37 TN TSI WA (91T N2

Grandmother gives 180 marbles to her 10 grandchildren. The number of marbles each receives is
distinct. Shihab gets the most marbles. What is the minimum number of marbles he could have
received?
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(Que: 162) BB 3 x 3 TP 1575 BTN 8 126 AW (T 1 x 1 WH(O T LT HOS |
TANH6F BT (UTS I,
A 3x3 cube is formed by 15 black and 12 white small 1x1 cubes. The faces of the cube look like

EEOITE

TP P (MATO (FAN R(Q?

What will the sixth face look like?

(A) H (8) H (C) H (D) m (E) H

(Que: 163) A6 (BT 2156 IITe AfSHre WS® qFo= A g | M TG Trat
G2 TS LT ANATR IFNTS AP, STHACS 'O I T | ([ AfS 3o
WN2 f3F 5 A1 10 TN A |TZ | (RIN (B F© G Trdl =H?

There are at least one passenger in each of the five compartments of a train. If two passengers are in
the same compartment or in adjacent compartments, they are called 'neighbors'. Each compartment
must have exactly 5 or 10 neighbors. How many passengers are there in total on the train?

(Que: 164) (TN TS 380 FIS =ty (I Y fEgw 8 34 (SR FAC® AR 456
PS8 TOITI TR AL IO ATE V| fTqrad A g 8ft IS ey 515w =t 091
A3 12 FAG P MY ofF =2

You have 38 sticks with which you can form a triangle and a square. One stick cannot be a
common side for both. If each side of the triangle is formed by 8 sticks, how many sticks will one
side of the square be formed by?

(Que: 165) NI fNéT 7

10.73 x 10.73 X 10.73 — 4.27 X 4.27 X 4.27
10.73 x 10.73 + 10.73 x 4.27 + 4.27 X 4.27

Evaluate
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10.73 x 10.73 X 10.73 — 4.27 X 4.27 X 4.27
10.73 x 10.73 + 10.73 x 4.27 + 4.27 X 4.27

(Que: 166) 1116 FNF FreI[TE AT (TVH 2761 | WA A6 F©?

If the sum of eleven consecutive natural numbers is 2761, then what is the middle number?

(Que: 167) BT STEF A0 S 387x, 11714 ROIGH 20T x-IF NN F©?
If a 4 digit number 387x is divisible by 11, then what is the value of x?

(Que: 168) 2003x2004-2002x2005=?

(Que: 169) HIAMGT TSt WG NI FA1, 1,2, 3,5, 8, 13...

Find the next member of the sequence 1, 1,2, 3, 5, 8, 13...

(Que: 170) (NG IG?

4500 or 5400

Which one is greater?

4500 or 5400

(Que: 171) ABCD I5f6 INT%@ | ABCD 9 IR &1 NI (9 FTI EFGH INTHH
IS (9 | GF2ONJ EFGH - I IR ST TR (9 FTIT A'B'C'D' INTHA ST (51T |
ABCD-93 CFaP A'B'C'D' -I9 CH OGB4 PLOIGB?

Given a square ABCD, consider the square EFGH that has its vertices in the midpoint of ABCD.
What is the ratio of the area of ABCD to the square A'B'C'D', whose vertices are the midpoints of
EFGH?

(Que: 172) NS ACGT (G 7 6 B =g | fHfearammetams s 20226
PIFE 32 g 47 G Wy | ARG FBIOIA== Fsieed 4y, A1 39
ORI (NG fGRITHEI ALY TN | OIRCA NG 0T (N6 (GRICHI SLYT F9?

There are a total of 7 zoos in Nagaland. The zoos have a total of 2022 kangaroos and some number
of giraffes. The number of kangaroos in each zoo is equal to the total number of giraffes in all other
zoos combined. So, what is the total number of giraffes in Nagaland?
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(Que: 173) T fNTHH J@ITYCR 1-8 HALLIIBTET fALTF (I [0 IS AL OF
SAFACIAR FON6 J0S (T LMD TAR BTH N S| 6T A ISR (@741
ALY AT \BVpe] PO?

Rasel will write the numbers 1-8 in the circles below so that the numbers along the arrow indicate
the product of the numbers written in the three circles on the line. What is the product of the

numbers written in the circles in the bottom
30

48 105 28 144

row?

(Que: 174) 12f5 ICUTT ST~ AN 1 TN, 2 AT, 3 AN, .., 11 ATV 433 12 AN
ARG [[RTFoT (572 A YIS ARSI 416 6= 3T 6o Row 1 AN Frow
(TG ST 41 AT, fGST SPToT G 26 AT, BT WY 9 AT SGN{G (PN BT
Y2

There are 12 weights with masses 1 gram, 2 grams, 3 grams, ..., 11 grams, and 12 grams. A seller
divides these weights into 3 groups of 4 weights each. The total weight of the first group is 41
grams, and the total weight of the second group is 26 grams. In which group is the 9-gram weight?

AAAA AaaA
m=RE=)

(Que: 175) fRTEa fora Y=aB=® (FIBAT (T957F F©?

In the figure below, what is the sum of the angles marked with arcs?
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(Que: 176) GBI INPI ML SIRAME 1.5 O 2% [T 9T 981 =g | 8164
CFgPe1 129 ?l'éfﬁl'l\?ﬁ R0 9I8T I FIANTCNT P gPe] P9?

A square garden has a road 1.5 m wide all around it. If the area of the road is 129 square
meters, what is the area of the garden excluding the road?

(Que: 177) QEF%WWWEE 10 I | T fGgwioa GFawe 60 I
CIFBINBIRR R N1 =, O fagGi6d ARA SIS FTel 20 A2

The base of an isosceles triangle is 10 cm long. If the area of the triangle cannot exceed 60 square
centimeters, what is the maximum number of centimeters in the perimeter of the triangle?

(Que: 178) ISV (I ST RIAT 398,436 & 542 (F OI9T FAC JATGIN 7,11 8 15 WIMZ
YHCI?

What is the greatest number that will divide 398, 436 and 542 leaving 7, 11 and 15 as remainder,
respectively?

(Que: 179) T ASE ®% (I GY 3 NFI (ATI(R WA ATST &% (T G 2
T LROACR| 30 O (AT T3 OIF AT NHF 40 (A O PO (9T 85 IACR?

Faria gets 3 marks for each correct sum and loses 2 marks for each wrong sum. He attempts 30
sums and obtains 40 marks. How many sums he solved correctly?

(Que: 180) FfAN JF6 FIG; © AT, IN 8 T 43¢
TSI ¢ AT ST FACO AH | IM OIAT GFANY A2 IS AN (I
3¢ 98,500 BIHI AIHNFH AT, OIR(eA GIBIA ATSIAD Ol T X(J?

Karim can complete a work in 3 days, Badal in 4 days and Sattar in 5 days. If they complete the
same work together and get paid Rs. 14,100, then what will be Sattar's share of the money?

(Que: 181) N fETAT ABCD IC WTOEHAIG JF2I3N (74T af6 (@6 (=6

WEOEwg Bl (O (IR | O %&I?TIWW?

In the adjacent figure, the large rectangle ABCD is formed by 7 identical small rectangles. What is
the value of % ?
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(Que: 182) JTT IF2 TPV (RYUTO 20 oA FOR AT AT IO (0O AN | I (A
o fon WRfog TvTE (©fF =0 ([RTE= f6rag W) | M TNIBSTER I Faeed
72em?, 96cm?,, 102cm?, XV, OIRCA JH10 20K YT CF AP PO?

Two identical bricks can be placed side by side in different ways. This results in cuboids of
different shapes (as shown in the figure below). If the surface areas of the cuboids are, 72cm?,
96cm?and 102cm?, . what is the surface area of one brick?

72

102

9%

e

(Que: 183) AR forax Nror IHf6 fagT URe AT I8 ATF WA NFFON (R
FE MR | ITST G ITF WO N CFawrad 45% | TTGUSE ST =1 AT
(P GPLAF 40% | OTR0eT O8] WV(TWQ‘W% JUS] (H QP[] PO *OR*?

In the adjacent figure, a triangle and a circle are partially overlapping each other. The red part of
the circle is 45% of its entire area. The white part of the triangle is 40% of its entire area. Then
what percentage of the circle's area is the white part of the circle?

&

(Que: 184) A, B, C, D NITN BIAG ST AN (IF2 TN ) WIZS | O J53
SR WRABS | AT A (YTH D-G g 75Km. B & D P AT (AP 45Km. [T
432 B & C TP WA (AF 20Km. FIT AIZS | OIRCeT ATV A (ATF TN D-AF S
Y PO RO AL

Four villages named A, B, C, D are located side by side (not in the same order). They are located
on the same straight line. The distance from village A to D is 75Km. B and D are 45Km. away
from each other, and B and C are 20Km. away from each other. Then what can be the maximum
distance from village A to village D?

(Que: 185) A, B, C, D NITNK BIAG ST AN (IF2 TN ) WIZS | Ol J53
SR QRS | ATV A (ATF D-A9 GIF 75Km. B & D (P WHEL (AP 45Km. B
432 B & C TP WATAF (AF 20Km. FIT AIZS | OIRCET ATV A (ATF TN D-AF S
Y PO RO AL

Four villages named A, B, C, D are located side by side (not in the same order). They are located
on the same straight line. The distance from village A to D is 75Km. B and D are 45Km. away
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from each other, and B and C are 20Km. away from each other. Then what can be the maximum
distance from village A to village D?

(Que: 186) AFO 5x5 fATGF TVoN FOBET T AGN FATO 2, (T 1x1 AT 4x1
WFIE ATOTH G 5x5 fATOT (GOTF AL (TP ISV TAFH SO FAR?

What is the minimum number of cells in a 5%5 grid that must be colored so that any 1x1 or 4x1
rectangle placed inside the 5%5 grid will overlap with at least one colored

cell?

(Que: 187) NI & AT -
(119)2 — (119)(111) + (111)?
(119)% + (111)3

Evaluate
(119)% — (119)(111) + (111)?

(119)3 + (111)3

(Que: 188) 20 & 40 I WYY FIO N HALU?
How many prime numbers are there between 20 and 40?

(Que: 189) I, NG 8 (N NN IS (ATH 1206 TN fFN TGN | STASHT ©IHA
T ©19Y B TN | STRE NI SR I INCHL S ABI6 (NS ST AT 89 B
Y Rt | [T S 4mfS Sa G G2 | I =N (362 (SR I8 28HGe
ST IR )

Mother of Faria, Nazia and Moon has brought a basket with 120 Mangoes. She distributed all the
mangoes among her children. 4-years-old Faria, 7-years-old Nazia and 9-years-old Moon. She gave
to each child a number of Mangoes which the age of the child multiplied by a certain factor. This
factor is the same for all children. How many mangoes Faria received?

(Que: 190) 96 INFR CHLAF ARSI THET 6 B IO T, O(F O CHFaH 336
INFE AT | & CFE CFAFA 336 INTFE IACS (A AfS AT T F© To SO
2

When each side of a square is increased by 6 feet, the area is increased by 336 square feet. By how
many feet does each side of the original square have to be decreased in order to decrease the area of
the original square by 336 square feet?

(Que: 191) A6 *IZCIX TSILAT 64000 3¢ A ITIF I T 10% | 3 IRT T &
(LT GANAYI PO R(]?
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If the population of a town is 64000 and its annual increase is 10%, then what would be its
population at the end of 3 years?

(Que: 192) foN T3 [T I AT *16F 8 JF(HA WLF B [NV FACA
S4mBd 297 I AT | I 7¥1F 8 *1'SF FTN AL B R[{IVNT FI O[ I VN9
TG | AT NG ST CI9FeT 11 =0 5o Fw2

If the hundreds and units digits of a three-digit number are interchanged, the number increases by
297. If the tens and hundreds digits are interchanged, its value increases by 9. If the sum of the
three digits of the number is 11, what is the number?

(Que: 193) fRTER TRFIACY ATEO AFZ AR | (TS *7 FNSTEANCS 56 + HF =
AHG - foz I/ BN | OI=(E (5T® (FIATY - f5= I/, (TN STNHANC 55 As?

609012015018021=45

There are five blanks in the following equation. You want to put four '+' signs and one '-' sign in
these blanks. Where should you put the '-' sign so that the equation is correct?

609012015018021=45

(Que: 194) SJINTF ATATICI 7T (ITCHA VLS HAF 36 (1IN | (T 5/ TF7 (0o 57
2ATST LTS BIF | ATTISTAR WHIE, WS I BEool 3 I3 IFN| N6 (A0 8f6 A=
OEoeT 42 (1.1, 1 93¢ G (AT 26 AT Tt 18 (1., | Or=tet 741 %f6 *1eTrsa Nl
STCATE6 FHMO AT ALATS A2

The distance between two shelves in Subarna's kitchen is 36 cm. She wants to keep some glasses

inside the shelves. The size, shape, and height of all glasses are identical. The height of 8 glasses

from the bottom is 42 cm. And the height of 2 glasses from the bottom is 18 cm. Then what is the
maximum number of glasses Subarna can keep between the two shelves?

o
(Que: 195) 100 (AT 300-47 VLT FOBTEAT FLTLYT ST (ST [RTGTG?

How many odd integers are there between 100 and 300?

(Que: 196) 36 ISNFIR TLAF M (NN & STTYR MG AT ZCACR (N5 B |
IO JFATR T 12 FNBR | Or=Ca TP MR ([AVTES JAFR CFahe] 3O?

Rose and sunflower plants have been planted in a square flower garden (see image below). One
side of the garden is 12 meters long. What is the area of the region where sunflowers are planted?
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(Que: 197) WNTHI WHCS BT TS SR | T JFH(0 AfS T0r7 I NG F6 43¢
NG AfS T 12 NG (7 20T | T WNF o 9be 55 ST (576 Fae,
T TG TYN R G M OB OYN (ML, JH6 6T 11:0067 I NI GTo
12:0007 TG | OIR(e NP NoH[e U TG SN (0 FLARA?

Anik has two clocks in his office. One runs one minute fast every hour, and the other runs two
minutes slow every hour. Yesterday, Anik set both clocks to the correct time, but today when he
looked at the clocks again, one showed 11:00 and the other showed 12:00. At what time did Anik
set the clocks yesterday?

(Que: 198) FfF JH(0 FI9TST fFF ST24T A4, (TRTEAR CT90F 22| O F @A T
PINGG YT AFSO ST 7 (AT FRCA9 T 72 (ISTET (15 3T | IR 7= (qroreeeT
34 XY, OIS BB BINTG PG ST AU

Rukhi wrote some numbers on a paper, whose sum is 22. Her sister Riya opened the paper,
subtracted 7 from each number, and then added them. If Riya's sum is 34, then how many numbers
did Rukhi write on the paper?

(Que: 199) IHf6 TNAZ fEQIGE ¥ 30 IV | I% (UG GFa®et 540 35 GIFBIGIR
QP N1 =T, O FaQUGE ARSI S0 F© 20O A2

The base of an isosceles triangle is 30 cm long. If the area of the triangle cannot exceed 540 square
centimeters, what is the maximum number of centimeters in the perimeter of the triangle?

(Que: 200) x=11 (T x°-5x* + 10x> — 10x? + 5x + 34 W~ FO?

If x=11 then x°-5x* + 10x3 — 10x2 + 5x + 3=?

(Que: 201) IR s O RIS 1 (AT 2009 IS AT T4 4537 IR [T
I | RIS (N6 Fod1d 1 R F40® 212

One day teacher asked his students to write all the numbers from 1 to 2009 (writing each number
only once). How many times students have to write the digit 1?

(Que: 202) 105 NI PLIBICG NI VT LTS = IO ATSTH I FANTT JB0
P NG TP, TRGT A G52 YT NI ATHTS AT T A3 AP0 I N
WS ABI6 ST (BIRITAT I T | TS FH6 BT ATIG 2

What is the greatest number of bags that can be used to hold 105 marbles if each bag must contain
one marble but no two bags may contain the same number of marbles and you cannot put any bag
inside any other bag?
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(Que: 203) [NTET 4IETF 1009 W (I B
0,3,8, 15,24, 35,48, 63, ...

What is the 100-th term in the following pattern?

0,3, 8, 15,24, 35,48, 63, ...

(Que: 204) M 16™"(1)+ 16"(6)+ 16™(15)+ 16™(20)+ 16" (15)+ 16™(6)+ 16™(1)=2* O(d x=?
If16™"(1)+ 16™(6)+ 16™(15)+ 16™(20)+ 16™(15)+ 16™(6)+ 16™(1)=2* Find x=?

(Que: 205) COINTIP ANPAF 1x1, 2x2, 3x3, 4x4, 5x5 8 6x6 AR P (MEAT (AT g (TP
106 IF TVIZI F(I (VB CFaT 48 T FACS A

You are given an unlimited supply of 1x1, 2x2, 3x3, 4x4, 5x5, and 6x6 squares. You need to use 10
of these squares to create a total area of 48.

(Que: 206) IFIN O SBIF AR P NG I TP I8 AT JF2 TN
OIS O OIS, G52 (G BT FIAWD IR AT I8N (AT FO=H AT N
O ASTY TG Wfo@ N FACAT, IMS (FE6 FNOPH 567 BN | 4 fFTHT AT,
NG SIS (N (R (AT IR I (N2 O (57 (AT 22 TG WA
BIC | O (T WK P2 BT NS I e 981 et | i & el
MO 2 AHFATCY NG AT (N QICAT | FIFAE SS9 e AT dF2 | AU
HIRFAE I TSR AN NG NG 51 e BIFIR S0 ATRHF S0 4 B
G338 (AT AL 5 B | NG I (N QICNTF G¥5 HIRFAF FCOT TN (ACNR?

Faria sets off on her Star bicycle towards Nazia's house. At the same time, Nazia also sets off in her
car along the same straight road towards Faria's house. After how much time did they cross each
other on the road, even though neither noticed the other? A little while later, Nazia arrived at Faria's
house and found that Faria was not there. She waited there for 22 minutes. Then she returned along
the same road. Faria and Nazia both arrived at Nazia's house at the same time. Faria's speed was
constant throughout. On the other hand, Nazia's car speed was 4 times Faria's Star bicycle speed on
the way to Faria's house and 5 times on the way back. How long did it take Faria to reach Nazia's
house?

(Que: 207) fATER 4TI 71X 2 I F9? n-OW AW I FO?
3,8, 17,32, 57...

Find the 10th term of the following sequence. What is the n-th term?
3,8,17,32,57...

(Que: 208) p, 3-I (5TT IG A0 (NP SN | p? (F 12 RN I FIAA FTOI NIV
YFI?

p is a prime number greater than 3. What will be the remainder when p? is divided by 12?

(Que: 209) (NIPIF WA (FITA ©IF (NHIF WG ST A0 (NPT (PR
(STNBTAR ST B (AfBTT (AR CFAT (NIT BIATNT 8 FACE (PN (BT
(N1 (PN 96T IO M A2
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Boatman Ferdous has tied five circular frames to his boat rope in a diagram-like fashion. If Ferdous
starts rowing the boat, which circular frames will rotate clockwise?

(Que: 210) fNTER ATH F1E =N I ST SICHTT (6 T WHF JF0T AU (OfF BT
AT | STACHTY I (FIN FTE6 Be?

The smallest nine-digit number was formed by placing the five cards below side by side. Which
card was on the far right?

ofo]ojafm

(Que: 211) TR foTET IS 3, 4, 5, 6, 7 TLATNBTAT (74T WG| A2 HIATO Jr@d
S ANSTAT BT 360 20T, WA J0S (FIN AL ICA0R?

The numbers 3, 4, 5, 6, 7 are written in the circles of the adjacent diagram. If the product of the
numbers in the four outer circles is 360, what number is in the middle circle?

(Que: 212) TR foTER I8 3, 4, 5, 6, 7 STLANBTAT (741 ™G | AR BTG Jrad
RYIYCEATT BTPeT 360 W, WA 08 @W?{ezj}ll@ JRR?

ST 8: *TS, TS 43¢ GifN fon @I | OItid ITCIF (915 15 IRd |

o MG 8 AT A (1P 11 IR
o ATE 8GN IACIF (A7 12 S

IR O G~ WET STICHIT I (?
Shanto, Pranto, and Johnny are three brothers. Their combined age is 15 years.

e The sum of Shanto and Pranto's ages is 11 years.
e The sum of Pranto and Johnny's ages is 12 years.
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So, who is the oldest among the three?

(Que: 213) AT FIHE ST SN JF0 fRTNT ATONN ArF (M| AT (7 AN 4f6 I©
AIF (7Y 433 OIS O (6 1% (AT (AT 279 W@ | GO YTy 6 8 (6
T TT® A | (5T I ACE 3 I SN T A< (6 A0 1 9 AN I | FIHE0
T 0 (AT OF P, OIR(A 73-9 (N QAT FCADI0 I 7% IS, NP (Y6 22

A kangaroo always jumps in a specific pattern. First, it takes two consecutive large jumps, and then
three small jumps (as shown in the adjacent picture). It continues to alternate between large and
small jumps in this manner. A large jump moves it 3 spaces forward, and a small jump moves it 1
space forward. If the kangaroo starts from 0, how many large jumps or small jumps will it take to
reach 73?

e it

0 3 6 789

(Que: 214) TN (T AT Hf6 AR IR (TF T4 | TENI*NS, O 2 (LUK
8T NN CFC e | A g =¥ ATV =0T (91T ([R5 forad Ween) | TN 5%
R(J? QN fF IO A, AN ALK (*1F fSG06 902

Arpan wrote the sum of the squares of two numbers in a notebook. Unfortunately, his brother
spilled water on the writing, blurring some parts (as shown in the image below). Can you tell what

(2389)* + (3¥92)* = 7133029

the last digit of the first number is?

(Que: 215) (T JF6 (GQrG O~ IR (AT IAEH W ab,cl a? + b? + c?=ab+betca TF
O[T ANV 3R] (¥, Lﬂ\'ﬂﬁl@ MREIEY

The three sides of a triangle are a,b,c. Given a’? + b% + c? =ab+bc+ca. Prove that the triangle is
equilateral.

(Que: 216) AP0 WTOEHLAI (RTNR B A9 CATHF (61T 2 I &1 I 99 2% 10
I =T O g9 (R 92

The length of a rectangle is 2 cm more than the length of its diagonal. If its width is 10 cm, find its
length.

(Que: 217) GG ©IeT 3LV = H2 WIHF JIFI6 MU I T 94, 933 97 W(HT Z
RN FACT (T SR ATST I O (e | (TN 110 = 37+73 B0 ©led ST |
PORTA Ol JLYT NR?

A good number is a two-digit number with distinct digits, and its reverse. For example, 110 =
37+73 is good. How many good numbers are perfect squares?
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(Que: 218) 100-4F (5TT BIAM6 (N1 SLAT (T BT M 332 — 23297 TNV |

Find four prime numbers less than 100 which are factors of 332 — 232,

(Que: 219) ABCD J35f6 599G | I AB A3 LRI M 8 N 72T fI™ AD = MN = NB {<¢
CD (41 P 8 Q R IS CP=PQ=QD | &1 FTA (T, (FH AMCP = (FF1 ABCD |

ABCD is a quadrilateral. M and N are two points on AB such that AD = MN = NB, and P and Q
are points on CD such that CP = PQ = QD. Prove that Area of AMCP :% Area of ABCD.

(Que: 220) ABC f@9ITI D, E 8 F TAEHIN AB, BC 8 CA I2F 89T WIS | JJ3 AD = DB,
CE = 3BE 8 AF = 2CF, I ABC QUG Fa@e 480 cm? X O DEF (@9l Gid Cha®e]
FIS?

In triangle ABC, points D, E, and F are located on sides AB, BC, and CA respectively. And AD =
DB, CE = 3BE and AF = 2CF. If the area of triangle ABC is 480 cm?, then find the area of triangle
DEF.

(Que: 221) G (TN, ™G (ATF 1000 A 217 F A7 2?2

Today is Monday. What day of the week will it be after 1000 days from today?

(Que: 222) TG (ST 5 TOI HINT (NG 500 SFY (UTS Ie77 | GfN WG ApTeT 9BIT
STY YISTT BF FACET | (T STUIT ST TN FWO! IG?

The doctor told you to take a total of 50 medicines, one every 5 hours. You started taking the
medicine at 9 AM today. What time will it be when you take the last medicine?

(Que: 223) GITOTI STHTT (7Y 19315 1 SIS WIS G610 T3 (7% STor=1fSx mifzrg |
N® (TCPB T IR oINS [NAT® AR | SR I AT TS J(F, 4N
PN 52

The United Nations has 193 member countries. One country takes on the responsibility of president
every month. Bangladesh was elected president last September. When will Bangladesh become
president again, what month will it be?

(Que: 224) 72027 (P 4 T 19 P O o ATH?

What is the remainder when 72027 is divided by 4?

(Que: 225) 540 x 245 SILYITT (WH FOO WZ (digit) DTK?

How many digits does the number 5%° x 24°have?

(Que: 226) 30 & 50 I VIR (VTP HLATBTAT 742
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Write all the prime numbers between 30 and 50?

(Que: 227) A AT PG 9 TN FIATS MH| B FICGA CHFLA A I GEANTT 50% ([ 755 |
G2 PG| B O MN FACO AAR?

A can do a piece of work in 9 days. B is 50% more efficient than A. How many days are needed for
B to do the same piece of work?

(Que: 228) 2 WTHF JHf0 AU AFF [T 0T 2 (F AT (NSTTS (56 9516 5
WCET ALY AT RAEAT YN 2(F IR 5 WS ALY QPo I (ST AT "9
AT 6 ORI LT | JF-FRTNCN ST 20 AL FT@1?

In a two-digit number, if the unit digit 2 is removed, it becomes a 5-digit number. Now, if 2 is
placed at the beginning of this 5-digit number, a "new number" of 6 digits is formed. If the two
numbers are equal in value, what is the number?

(Que: 229) 32" + 9™43 (F 3 RIS FICeT PO WIARF APII?

What will be the remainder if 32" + 9™+3 is divided by 3?

(Que: 230) a,b,c TGP YEFTLYN IS c=25x4x125=2%+b x 5P c- A NN fNET FAT

a,b,c are positive integers and c=2"x4x125=2%*? x 5PFind the value of c.

(Que: 231) I™ 1 (AT 100 21 SALLTSTEAT APNAT Y JF6 IO SN AN | (5F
G a NN fAe B SIS, B=12345678...99100 | ©II9F (1 ©TF ©I2 5HIPLP [GeaS e
G2 G S5 (AT (T 100 W= YL (Fetet Siynfod W Sedsh A0, (372 106

W (T F9? 5H NP BB el OSIC Bl Qa2

Bindu wrote the numbers from 1 to 100 consecutively to form a large number. She named this
number B. That is, B=12345678...99100. Then she asked her brother Chandrak, "What is the sum
of the 10 digits that, when removed from this large number, will result in the largest possible
remaining number?" If Chandrak gave the correct answer, what was the answer?

(Que: 232) TF 12:25 NG Tf6F 72 FIOF VKT HHON (FICF W+ Fo [Gf3?
What is the smallest angle between the two hands of a clock at 12:25 PM?

(Que: 233) AL IAT (AT 6 AR I A6 (A 59 320 Vg oI | (755
<] O i (AT 59 I2/6 (NIT AT | & (04T (9T (T (5 ST 5 7262 AtNg |
WANIHT® FOR 32 fiet?

Hablu was told to bring the fourth book from the left side of a bookshelf. But Hablu brought the
fourth book from the right side. However, it turned out that he actually brought the correct book.
How many books were on the bookshelf?
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(Que: 234) T 1 (AT 12 VIV STLANBTAT BVTHFA TF n OIRCEA n-AF (N6 FOQTEAT
CNIfeTH B AN HCR?

If n is the product of numbers from 1 to 12, then how many prime factors does n have in total?

(Que: 235) 12ab (0 BIF WERIMTE ST34T, (TAMN b & 2 TAHN JFF 8 TTHF T AT
PG| 12ab ST 2, 5 G 7 BT [TOTGT =T 2 @ b-47 W NGT BT

12ab is a four-digit number, where b and a represent the units and tens digits respectively. If the
number 12ab is divisible by 2, 5, and 7, find the values of a and b.

(Que: 236) JJT© JHI6 TG WTHIT FRAK (TGO 15 TOIT 43 T 933 80 NG g%
T0I | ST TGS 16:00 IGCeT O GO TG 10:00, ALY TGTW 20:36 IS IO
I IGT® FAGT GO (MAI?

Subrata invented a clock where one day is 15 hours and one hour is 80 minutes. When a standard
clock shows 16:00, his clock shows 10:00. When a standard clock shows 20:36, what time will
Subrata see on his clock?

(Que: 237) 6T TTF 100 G~ AMGNITSIIR ICT DTZN AW N FNATE | G~ 9AS |
ORI 82 G ATBT (ICHICAT B2 TN N 1 G A | OIR A FAGH S W FAGH
OHY?

100 politicians are sitting in a room, among whom at least 1 person is dishonest. Also, among any
two people in that room, 1 person is honest. So, how many are honest and how many are dishonest?

(Que: 237) AN BfITS JHF6 I WTSEHAE F20 (@4 T 516 Vo WHerHd
OI9 TR ICACR | 15 28T e I IS NS | fSNT O CFaeel (ST
R | 5946 CFawe T2

In the adjacent picture, a large rectangle has been divided into four new rectangles by two lines. All
opposite sides of the divided rectangles are parallel. The areas of three parts are given. What is the
area of the fourth part?

6 14

7 35

(Que: 238) IHf0 JCSI IPNY 15 IFF | J(SA (FH (A 9 IFF TATY JHI0 [ P WK
P ™3 87 T 38T IV FOGTA T AFTS A, IR (D YA IFF?

The radius of a circle is 15 units. There is a point P at a distance of 9 units from the center of the
circle. How many chords can pass through point P such that their lengths are integer units?

([
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(Que: 239) &N T AF(6 AW, 1 * 3, ST4NfB 11 BT [[For0y =0 * BfFs Fag w=fo
FOT (1B 217 57= R4 31

The three digit number 1 * 3 is divisible by 11. Find, with proof, the missing digit (represented by
the asterisk).

(Que: 240) G2 CHFaH AT IF0 WTOCHFH 33 IF6 INTHFER W& (FINOF
AFHN IT A6 2N 512 67 41

A rectangle and a square have the same area, find, with proof, which one has a greater perimeter.

(Que: 241) BN 0T G ST AT (Y% | BN 1 (AT 22 VIS AT AU IFAD
FEFIREAIE DG 11 %@‘NS“TT%:TWI ONRFBTATT 19 & G (F (PI ALY (J IAC®
AR | TINSI T FTOIMG SATT LI T AI?

One day Tom was playing with numbers. He wrote 11 fractions using all natural numbers from 1 to
22 exactly once - either as numerator or as denominator. How many of these fractions, at most, are
integers?

(Que: 242) INN pHON F WO fFNIT F9 (TN IO 4, 6 AT 9 FIRAT ©IF FACT 1 IR
TP 32 AT 13 BT oy =71

Find the smallest number, divisible by 13, such that the remainder is 1 when divided by 4, 6 or 9.

(Que: 243) (m, n) I GNP A LT (FIN (FN NN N m"3 + 1331 = n*3 TNFING
Nkl

Find all pairs of positive integers (m, n) which satisfy m"3 + 1331 =n"3

(Que: 244) NT°6 WK B6F N ATV AGR, STHI(F FOBTAT AL AT (S
TR, ST (TN (ATH F6 B AL (WK (TN @ S 76 (e 3 BT [[oray =71
NCOF 1 (AP 40 G WL (AT ALLIRTET (RS (AR, B0 1 (AT 100 I KT
UGG AL QTAT (RS AR | (I T© (I OIF 3 Q11 f[IOIGT ALY NS AR
fGorR| (& fGoE 933 (@2

Nonte has been given all the numbers from 1 to 40 & Fonte has been given all the odd numbers
from 1 to 100. They have to take any two of given numbers so that the summation of those 2
numbers is divisible by 3. He, who will make the numbers divisible by 3 in most ways, will be
announced winner. Who will be winner and why?

(Que: 245) G376 ST 25 {6 ™ ST, 47 WK I3[4T fSNT {98 IF2 AIA@ATT
(N2 ] [T AT B AT Z0A AN P (LT 512

There are 25 points on a plane, no three of which lie on a line. Find the minimum number of lines
needed to separate them from one another.
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(Que: 246) BIFHIGTEIN AT (572 5OGS IK 26 [[RIHNIS @ N[ TS [5G
720 TS | JHf0 STNFIR JFAGRT T4 Ao 726 SNz fGFes FE"
O FEAR | BIFHGERITN (@ISR W 47 |

Trapezium is any quadrilateral two opposite sides of which are parallel and another two are not.
The diagonal of isosceles trapezoid divides it into two isosceles triangles. Find the angles of the
trapezoid.

(Que: 247) BN & (GAT BTG (TG 14 6 Br2eist WItg | 47 W&y 8 6 et 8 6 6 «11et | wra
QST g TR IS ATGCS 5T (T, A T2fT 1t B3It WAL SNATH
A6 VT B2 AP | AWIRT FOOIE 6V 8 (Gl 2 IS FICO AT |

Tom and Jerry have 14 tiles in total. Of them 8 are colored blue and 6 are colored red. They want to
arrange them in a straight line such that between any two red tiles there is at least one blue tile.
How many possible ways are there of arranging them in this line?

(Que: 248) ABCD 56 599U I AB, BC ® CD r=A NI TGN P, Q 8 RI IM PQ
=3, QR =4 ]S PR = 5 T ©O(J ABCD 5QQGd (Ha%] (IF B

ABCD is a quadrilateral. P, Q and R are the midpoints of AB, BC and CD respectively. If PQ = 3,
QR =4 and PR = 5; find the area of ABCD.

(Que: 249) G3f6 TCATHT ANOTS ATSIF YFF S ALY FINAA (TGHNF) FIIAR O
TS QT | 0eT A1 ST U (PN R TS T (FI ISP T |
M oo 1316 R THf© AT O (WT ORI LT F9?

In a house party, every man shook hands with everyone except his own wife. It is also mentioned
that no two women shook hands with each other. If there are 13 married couples in the party, what
is the total number of handshakes?

(Que: 250) 'ﬁslg M M1 YT Cﬁ@ Aforfrer 2oz | 31(\')535“? NCTT ANAT AT 5
G | PG ATSTIIN AN ZCeA OIF WCed n (T (9 =T (T R (NG (FIE FW (T

7o ARSI Roa =71 IW (FITAT ATSTIN 24T N1 =T <512 N B, O [t
(R PO TG (9 AICF?

There is a running competition between teams from two countries. Each team has 5 members. If a
competitor comes first, n score is added to their team. The team with the lowest total score wins the
competition. If no competitor is first or ties, then what are the possible winning scores?

(Que : 251) [3—7]=?

(Que : 252) SIfT® FHAFTTT YOI 6 TP ST 5575 18 8f6 weet orsy sar
[, RIS ST [ 92T AT ©191 91 I | G2 R YoRAd 8 Sitid
NN FOBTEA Rl Ol I M2
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A group of MOVERS in a math Olympiad can be divided into 8 teams with an equal number of
members, or into 12 teams with an equal number of members. What is the minimum number of
groups into which the MOVERS can be divided?

(Que : 253) BIA SCERF (T ALYIT SN ST W (ATH $2 RIS T @ 9= T, v
TS FAC ©F S0 T G732 S FRTIIS T ©F S AT ©I5T 1 T (T HAL 47 fNy
34

Find all the 4-digit numbers such that if 12 is subtracted, it is divisible by 12; if 13 is subtracted, it
is divisible by 13; and if 19 is subtracted, it is divisible by 19.

(Que : 254) T, STRILY & TSV WHFIA ACS JH6 (T “F (| (1 AT 70O ©IHA
JATERCN O, ¢n A% b NG ST AN | OIHA (6 BEE126 W (G SCATS TGS
TRGH JFNY (TS AN TS AN | fONGTANT TG0 AT (O AN F© SN A9NI?

(Que : 255) T, STRILY & TSV AHFIA ACS JH6 (T “F (| (1 1T 70O ©IHA
JATERCN O, ¢n A]S b NG ST AN | OIHA (6 BEET126 W (G SCATS TGS
RGN JFNY (TS A ZCO AN | fONGTANT TG0 AT (O AN F© SN A9NI?

Avik, Sudipto and Forsad are crossing a bridge on a dark night. It takes them 3=, St and 87 minutes
respectively to cross the bridge. They have flashlights. At most two people can cross the bridge
together in the light of the flashlights. What is the minimum time it will take for three people to
cross the bridge?

(Que : 256)

M U, M 933 N foF OF [T S8 ©I=ie 99 T 97 311
407

162
+N23

If U, M, and N represent distinct digits in the correctly worked out addition problem above, what
are the values of M, N, and U?

(Que : 257) If 2x + 7 = 2y {J% 2x + 2y + z = 20 XA y I NI (N7 4|

If 2x+7=2y and 2x+2y+z=20, what is the value of y?
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(Que : 258) (6 AMH 200 fOF ATET (WG 8206 I WZ | THIGTIN FAATH FOQTEA
I QAT 9N A6 20 AR (T (OINF FIG 52 08T WSS H6 I WMG?

A box contains a total of 420 balls of 20 different colors. What is the minimum number of balls you
must pick randomly to ensure that you have at least two balls of the same color?

(Que : 259) AFTO TSN (NH GAFOF IF-TorAL N2, F-5GLN JEFT, -
T AP 8 Y Gl P | YD (N6 FOGH GAZ® Bef?

In an event, one-third of the total attendees are women, one-fourth are girls, one-sixth are men, and
there are 6 boys. What was the total number of attendees at the event?

(Que : 260) BT (T *1Z(I AMF OIF (BIATHIN NFRSTA 5 B Goa | AL fGGBIT 0 43
1 IR N (TR T 2O NI | (79 @ AN fSGoa (q9r%e 97 SN 101 fF
fOTGBBTA 0 (ATF 9 ATV (ICICA T 20O N | 2 *1=( FIACHCT [ Fofo
(Ot ST (R8T HAEJ?

Kabir lives in a city where telephone numbers are 5 digits long. The first digit can be any digit
except 0 and 1. The sum of the last and first digits is always 10. The remaining digits can be any
digit from 0 to 9. What is the maximum number of telephone connections possible in this city?

(Q;flsrzzm)ﬂma%(:‘aww 5 (x, y) IR, (TN 2x + y = 100 T, (T x 8 y 4NIQq[F
IS

How many ordered pairs (X, y) exist such that 2x + y = 100, where x and y are positive integers?

(Que : 262) 89340651 TG (AT (TCHIAT 26 Wz I M QIS ARSI N
AGION N F) ISV 8 TFAON H Y O RAI?

From the number 89340651, by removing any two digits (without changing the order of the
remaining digits), what will be the largest and smallest possible numbers?

(Que : 263) 1 (AT 150 AT VKT (NG FOI6 ALY IR T 15 47 [oroy (75§ 5 a9
|3\‘9|@3 3?

What is the total number of numbers from 1 to 150 which are divisible by 15 but not by 5?
(Que : 264)

2y 9 AT T2

In the figure above, what is the value of 2y? 5

405 80°
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(Que : 265)
INOT Crawe 36 IO | THGGOT ARST TN AT x0 T HBGGIoT AT
IO (A2

The area of the square is 36 square meters and all three angles of the triangle
are xo. Find the perimeter of the pentagon?

(Que : 266) n I 1 (ATH 13 VIS AT BTH X, OIRCA n IF (NG FOGTEA
CNIfeTH B AN HCR?

If n is the product of the integers from 1 to 13, inclusive, how many prime factors greater than 1
does n have?

(Que : 267) B3I AFSMN BIFIF IS WTHK U2 MTNF TN AT BId1 Gl FA|
AAY 2 A BIe S BT H( A0S (AR | BN AN (T $IF I (N6 F© OIp
G2 B3 AU 10T F© BIFI HF G2

Everyday Gublu saves money in her money bank as much as she saved in the last two days. Gublu
saved taka 1 on the first two days. What will be the total amount of money in her bank after eight
days? What is the average amount of money that she saved every day?

(Que : 268) 2020 TGS 26 WF CNFF | STNF F© I AT IV JF(6 A W
(TN ATSTHO W (N2

In the year 2020, two digits are prime. What is the minimum number of years after which there will
be a year where every digit is prime?

(Que : 269) TG FOBTEA @G0 TR M AFSH 2T TR YT 438 AT
IC I2F (D 101 N STNRAR FAGUoE 48 ({7 FET

What is the total number of triangles whose each side length is an integer and the longest side
length is 10? Also, find the number of isosceles triangles among them.

(Que : 270) ABCD J35(0 NRTE BIFTGTIG (AN AD = BC =5, AB = 4 433 DC = 10

QYT € {977 DF 129 899 ™R 432 DEF a9l G Siowe DE-4F W59 B| OI=(« CF
=9
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ABCD is an isosceles trapezoid where AD = BC =5, AB =4, and DC = 10. Here, point C lies on
side DF and B is the midpoint of the hypotenuse DE of triangle DEF. Then CF = ?

(Que : 271) HIRAIB STLATF WY CICHICAT fONIOTE (19 FATA IAERCN SN 180, 197, 208 3
222 T | BIRIGI NET ISV LA F©?

When any three of four numbers are added, the sums are 180, 197, 208, and 222 respectively. What
is the largest of the four numbers?

(Que : 272) A A6 YESILYI, CTAN -
o YIS (I 1,2, '3 G2 WRSER STNCAW A0©
. ORI W FANCS 12 I 770 R
o SN 2 1 3 7T ooy 79|
A-GR TEIRT SN N 392
A is an integer, where -
e The number is formed only by the digits '1", '2', '3".
o All three digits have been used at least twice.

e The number is not divisible by 2 or 3.

What is the smallest possible value of A?

(Que : 273) Gf6 fEQUTE AFAN 8| fHGIGER ATSTF IZ T A4 47| {TgaiGa
CF AT IO?

The perimeter of a triangle is 8. Each side length of the triangle is an integer. What is the area of
the triangle?

(Que : 274) w 8 x-JI AYATS 4:3, y 8 - AYATS 3:2 1R z 8 x-AJ YA 1:6 | OTR(eT w
8 y-AT A qATS F9©?

The ratio of w to x is 4:3, the ratio of y to z is 3:2, and the ratio of z to x is 1:6. What is the ratio of
w to y?

(Que : 275) BT NCEI AN JF6 GG AT n VT T T1 15 7141 o100 78
MATod AFSE o 0 WRT 8|

Find a 4-digit positive integer n which is divisible by 15 and each digit of the number is either 0 or
8.

(Que : 276) A6 ACH 2012 6 (BITHN WG| ARSH BTN A6 S (741 AR
CICHITAT O COITRTN (1T ST 6 (TR 96| &P I AT TG IG SO F92

There are 2012 tokens in a box. Some integer is written on each token. The sum of the integers on
any two tokens is 96. What is the largest number in that box?
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(Que : 277) TON WL HRIFE (PN THON (GG JAH SFeTR WLHR (6?2
What is the smallest even three-digit number all of whose digits are primes?
(Que : 278) 1 (AT 2012 TS FOYTA I FNF Yo TSI ICHA (TP TN L2

Take a pair of consecutive integers in the range of 1 to 2012 such that their sum is a perfect cube.
How many such pairs are in the given range?

(Que : 279) ABC f&@9IGI BC, CA 432 AB IR BT fOI6 IV D, E, F INNONI (NS
(AT (N BD:CD=2:3, CE:AE=3:4 {43 BF:AF=4:5| AABC-43 CF % 225 X(e1 ADEF-AF
CPaPe] PO?

In the triangle ABC, points D, E, F are taken on sides BC, CA, and AB respectively such that
BD:CD=2:3, CE:AE=3:4, and BF:AF=4:5. If the areca of AABC is 225, what is the area of ADEF?

(Que : 280)

o

fSTa, ABFE J30 WO 98 (g EDCB A W | FICET WANTT g 63
R(eT ABCDE 4d (Fqpe] Fp9?

In the given diagram, ABFE is a rectangle and the area of EDCB is half of that of ABFE. If the area
of the shaded region is 63, what is the area of ABCDE?

(Que : 281) 2012 &= T JH6 ©ITT W (AT 57 77 e =g | A6 BIw RifGey
G0 I TG (P e, 99 72 T6T V7 (57 ™1 {6 I fNE (Ftet A, a9 fSF 961 #47
5T AT fO~IG I fNTE (0t e | IO eI0® AT @ T96T AT (5T (06 19115 39
e (FeITe ATF?

Rachi was on the roof of a 2012 story building. She dropped a ball from there. After two hours she
dropped two more balls, three more balls after three hours and so on. After how many hours would
she have dropped a total of 191 balls?

(Que : 282) ABC f@QUG AC = 15, BC = 10, 2C=900 | AB 49 &N QEF%WD CRNIEIGH
D fI™(® AB G &9 AC (F E RMT® G332 D (A(F AC G BN B 75 AC (& F [Mro
(%% BCE| DF = 6 20T EC A7 (T P9?
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In triangle ABC, AC =15, BC =10, £C=900. A point D is taken on AB. The perpendicular from D
on AB meets AC at E and the perpendicular from D on AC meets AC at F. DF = 6, find the length
of EC.

(Que : 283) G G WTGBNTF N 2012 6 W6 WD® 271 (I WS ot & wed
10 HTTB AT ]2 AT 4 A6 P01 I (Y] G FACA ATOIB Tel TN HNCAB AN I8
STATSG 122 6 W6 § 2@ AR | TG g7 ANTT6 WTSFONF T (ATH 56 ([ =0
TGO ST FOI6 WG [Grors A2

2012 matches are held between Brazil and Argentina. If a team wins a match, it gets 10 points but
loses 4 points for each defeat. Both teams get equal points for each draw. At most 122 matches can
be drawn. If Brazil's points are 56 more than Argentina's points, what is the maximum number of
matches Argentina can win?

(Que : 284) (OTNRAT fENG I T AT foN 4N R AR | GFGH T I
LN AP0 TNZ2 AN, O B2 (37 (1 T WS (YO AN | (W6 PO (OrNTl
I (4T® A9

Three friends will eat sweets. One can eat only one sweet of one type, or no sweet at all. They are
allowed to choose from three different types. In how many different ways can they eat sweets?

(Que : 285) (I ATNBIHFT CFAFT 2020 I IFF | I T 8 F AL =(A
T 2

The area of a parallelogram is 2020 square units. If its length and width are integers, what is the
minimum value of its perimeter?

(Que : 286) AHIG FIGTITGA (FIVSTE TS YOGS | SICETT (6 (B I 75
Ol =T, O A (A(F I (/I W Fo ey

The angles of a trapezoid are in an arithmetic progression. If the smallest angle is 75 degrees, what
is the measure of the largest angle in degrees?

(Que : 287) JBTH (FICVF N 53-n TG (TAMA n GF6 AGTLLT | 82 (FIR TL[H
(PR VN o {15}

The measure of an angle is 53—n degrees, where n is an integer. What is the measure of the
supplementary angle of that angle?

(Que : 288) IRGN (HITAT LT RIAT 398, 436 8 542 (F O FACH AN 7, 11 8 15
YTHCI?

What is the largest number by which 398, 436, and 542 can be divided to leave remainders of 7, 11,
and 15 respectively?
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(Que : 289) BB (T A- AT TSI FITYT TR % 8 ST [RTYF ST W d% |
A0 (T B-AF TSI AT T GRS IR e% 8 ST TR STRTHE 2% | (79T A 8
B-F HFel NISEIR AR AT AN | O (R A & B-AF N IS
NSNER THAUE AAN© Fo?

Country A's population is c% of the world's population and its wealth is d% of the world's wealth.
Another country B's population is €% of the world's population and its wealth is % of the world's
wealth. The total wealth of all citizens in country A and country B is equal. What is the ratio of
wealth per citizen between country A and country B?

(Que : 290) 1001001001-4F JICHLY TG B ATHP (I BT, TN 10000-47 (AT (RO |
Find the largest factor of 1001001001 which is less than 10000.

(Que : 291) (OTNIR PR STINF F© OIT ATFT 6 1 8 AT 11 T 13 G (572 BIFI 9N
HANTNOI(FT I B (S Ir'jl(.\s A2

What is the minimum amount of money you must have so that you can divide it equally among 6 or
8 or 11 or 13 people?

(Que : 292) £A T £B-IF B B T A2 £B-IF ST (FIV LA-IF TS (PR
19 @ T OI20A B=?

If £A is four times £B and the supplementary angle of £B is four times the supplementary angle of
£A, then B=?

(Que : 293) kx—12=3k STNFI k- I FOBTA LA VTN G ARNFINOF ST
M x- 7 NN LG AIALLI T2

For how many positive integer values of k in the equation kx—12=3k will the solution or the value
of x be a positive integer?

(Que : 294) WIIIARCH AT (AT 6 AU 6 TATT BV FCH 14 (N9 ST 5§ 57 gL
SUNfB 6 AT ©15 B0 14 [T FAR | G5 FAR AT FeATH (T 16| WIS (T
S MU (e AR (7 IM ARSI FI© OIR(e Fellwe PO (O

Abirab was told to multiply a number by 6 and add 14. But he mistakenly divided the number by 6
and subtracted 14. After the mistake, he got 16 as the result. If Abirab had followed the correct
instruction, what would have been the result?

(Que : 295) A X1 SO0 RTGIG (NeTF T BTHA | WA A x B T B0 (GG
IS YT | B I FANCTF FORTE (VAP B ATHS WTR?

A is the product of seven odd prime numbers. A x B is a perfect even square. What is the minimum
number of prime factors of B?
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(Que : 296) I3 N AT T ©fS IFT ATAT ST 560 ATV | AF2 ATAS GIL-
HALARN AT T ©fS T G577 8T =T 740 ATV | A 2T G T2

A container filled with one-fifth water weighs 560 grams. When the same container is filled with
four-fifths water, it weighs 740 grams. What is the weight of the empty container?

(Que : 297) 12 STERF AF6 [TGTT JUI G2 11 WCHF (GG ST NI ATHT TN
IO (O A

What is the minimum difference between a 12 digit odd number and an 11 digit even number?
(Que : 298) 24x30x37x8x86 A7 HAICHLY IG (VTP B ATHP F9?
What is the largest prime number that divides 24x30x37x8%x86?

(Que : 299) A T JF(S oF WIHF G0 JUI I AILTAT W A AT | B =
Af0 foF T YT I STRAQTEA F G2 | A G2 B AT R AT TINN F© (O
T2

A is a three-digit number all of whose digits are different. B is a three-digit number all of whose
digits are same. Find the minimum difference between A and B.

(Que : 300) JHT6 HITG 205 27 AH | ATSC EF TS Gy 7 HTB, AFSIG e
TSI G -4 2T7B, I3 GG PPN ATLL BT 0 TI6 I | MBI FRTS 100
TG (7| (5T PAD 2P PIBI (HARE?

A quiz has 20 questions. 7 points are awarded for each correct answer, -4 points for each wrong
answer, and 0 points for each blank question. Arika scored 100 points in the quiz. How many
questions did she leave blank?
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